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1. Which of the following is wrong? in relating to acid in stone cleaning
Aª»® _snõ®¦ PÀ y´ø©£kzxÁvÀ R÷Ç TÓ¨£mhÁØÖÒ uÁÓõÚ 
Âøhø¯ PshÔP. 

(i) The evaporation after chemical cleaning was not obstructed 
 ÷Áv¨ ö£õ¸Ò y´ø©US ¤ÓS BÂ¯õÀ uøh ö\´¯£h©õmhõx 

(ii) Change in surface hardness before and after cleaning 
 _zu® ö\´ÁuØS �ß¦®, ¤ß¦® ÷©Ø£μ¨¦ PiÚzußø© ©õÖ® 

(iii) The treated surface remained permeable. 
 \�ö\´¯¨£mh ÷©Ø£μ¨¦ Fk¸UTi¯x 

(A) (i) and (ii) (B) (ii) only 

 (i) ©ØÖ® (ii)  (ii) ©mk®  

(C) (i) only (D) (iii) only 
 (i) ©mk®  (iii) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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2. The cause for the result of efflorescence 
yÒ §zu¼ß ÂøÍÄUPõÚ Põμn® 

(A) Carbon dioxide 
 Põº£ß øh BUøék 

(B) Carbonate from the lime  
 _snõ®¤¼¸¢x öÁÎÁ¸® Põº£÷Úm 

(C) Helium 
 ï¼¯® 

(D) Argon 
 BºPõß

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

3. Regular cleaning of the temple structure can prevent the growth of 
÷Põ°À Pmhø©¨ø£ öuõhº¢x _zu® ö\´Áuß �»® ukUP¨£k® 
ÁÍºa] 

(A) Vegetation (B) Cracks 

 uõÁμ[PÒ  öÁi¨¦PÒ 

(C) Dampness (D) Efflorescence 
 Dμ¨£u®  yÒ§zuÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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4. Before commencement of repair or maintenance work in temples, it
is important to investigate 
÷Põ°ÀPÎÀ £Êx£õº¨¦ AÀ»x £μõ©�¨¦¨ £oPøÍz öuõh[SÁuØS 
�ß ö\´¯ ÷Ási¯ B´Ä 

(A) The stability of the temple building 
 ÷Põ°À Pmihzvß {ø»zußø© 

(B) Historical information about the structure  
 Pmih Aø©¨¦ £ØÔ¯ Áμ»õØÖ uPÁÀPÒ 

(C) Funds 
{vPÒ

(D) Weather condition 
 ÁõÛø» {ø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

5. The major damage to the temple building are from 
v¸U÷Põ°À PmihzvØS ªP¨ö£�¯ AÍÂÀ ÷\uzøu HØ£kzxÁx 

(A) Water (B) Temperature 

 }º  öÁ¨£® 

(C) Insects (D) Tree roots 
 §a]PÒ  ©μ ÷ÁºPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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6. Choose the right answers : 
\�¯õÚ Âøhø¯z ÷uº¢öukUP : 

(i) Paintings of images and colour washing should be avoided 
 ¤μvø©PÎÀ KÂ¯® wmhÀ ©ØÖ® Áºn¨ §a]øÚ uÂºUP 

÷Ásk® 

(ii) Prevention of seepage during rains 
 ©øÇUPõ»[PÎÀ P]ÂøÚ ukUP �ßöÚa\�UøP¯õuÀ 

(iii) Preservation is not essential for temples 
 ÷Põ°ÀPÐUS £õxPõ¨¦ Gß£x Azv¯õÁ]¯® AÀ» 

(A) (i) only (B) (i) and (iii) 

 (i) ©mk®  (i) ©ØÖ® (iii)  

(C) (i) and (ii) (D) (iii) only 
 (i) ©ØÖ® (ii)  (iii) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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7. Choose the right answer : 
\�¯õÚ Âøhø¯z ÷uº¢öukUP : 

(i) Don�t convert mandapams into rooms 
 ©sh£[PøÍ AøÓPÍõP ©õØÖuÀ Thõx 

(ii) Prevent damage to sculpture 
 ]Ø£[PÒ £õvUP¨£hõ©À �ßöÚa\�UøP ö\´uÀ 

(iii) Allow living quarters within temple premises. 
 v¸U÷Põ°¼ß £SvUSÒ u[Sªh[PÐUS AÝ©vzuÀ 

(A) (i) only (B) (i) and (ii) only 

 (i) ©mk®  (i) ©ØÖ® (ii) ©mk® 

(C) (ii) only (D) (iii) only 
 (ii) ©mk®  (iii) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

8. The amount of damage caused by hydrating salts in 
}÷μØÓ E¨¦UPÍõÀ HØ£k® ÷\uzvß AÍÁõÚx C¸UPUTi¯x 

(A) Moisture (B) Humidity 

 Dμ¨£u®  ¦ÊUP® 

(C) Plasters and stones (D) Absorbtion 
 §a_UPÒ ©ØÖ® P¸[PØPÒ  EÖg_uÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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9. Assertion [A] : Wind causes differential air pressures around a
building depending on the wind velocity and the
height and shape of the structure   

TØÖ [A] :    PõØÔß Põμn©õP ÷ÁÖ£mh PõØÖ AÊzuzøu
Pmihzøu _ØÔ HØ£kzxÁx; PõØÔß ÷ÁP® ©ØÖ®
Aø©¨¤ß ÁiÁ® ©ØÖ® E¯μzøua \õº¢ux.  

Reason [R] :  Wind causes the rain to strike the wall and this
may leads to air pressure differences across the
wall.  

Põμn® [R] :  PõØÔß Põμn©õP ©øÇ¯õÚx _Áøμ uõUS® ©ØÖ®
PõØÓÊzu ©õÖ£õkPÒ _ÁØøÓ ö\ßÖ Aøh¯»õ®. 

(A) [A] is true [R] is false 

 [A] Gß£x \� [R] Gß£x uÁÖ 

(B) Both [A] and [R] are true 

 [A] ©ØÖ® [R] Cμsk® \� 

(C) Both [A] and [R] are false 

 [A] ©ØÖ® [R] Cμsk® uÁÖ 

(D) [A] and [R] are true [R] is not the correct explanation of [A] 

 [A] ©ØÖ® [R] Gß£x \�, [R] Gß£x [A] US \�¯õÚ ÂÍUP® AÀ»

(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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10. Assertion [A] : Mortar and plaster consist of admixtures such as
sand, crushed stone cemented in a compact mass
by lime or cement.    

TØÖ [A] :    Põøμ ©ØÖ® §a_U P»øÁPÒ
EÒÍhUQ°¸¨£øÁPÍõÁÚ : ©nÀ, ö|õÖUP¨£mh
PÀ, _snõ®¦ ©ØÖ® ]ö©shõÀ BÚ SøÓ¢u AÍÄ 
Põøμ   

Reason [R] :  The durability of mortars and plasters depends on
the grain-size distribution of their admixtures. 

Põμn® [R] :  Põøμ ©ØÖ® §a_UPÎß Põ» }mi¨£õÚx SøÓ¢u
AÍÄ Â{÷¯õPU P»øÁPøÍa \õº¢v¸UQÓx.  

(A) [A] is true [R] is false 

 [A] Gß£x \� [R] Gß£x uÁÖ 

(B) Both [A] and [R] are false 

 [A] ©ØÖ® [R] Cμsk® uÁÖ 

(C) Both [A] and [R] are true and [R] is the correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® \� ©ØÖ® [R] Gß£x [A] US \�¯õÚ 
ÂÍUP®. 

(D) [R] is true 

 [R] Gß£x \�¯õÚx 

(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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11. A non-invasive electromagnetic geophysical technique for surface
exploration, characterization and monitoring is called  
{»zui B´Ä ußø©¨£kzxuÀ ©ØÖ® PsPõo¨¦UPõÚ öuõÈÀ ~m£® 
BUQμª¨¦ CÀ»õu ªßPõ¢u ¦Â C¯Ø¤¯À öPõsk C¯[SÁx 

(A) Ground penetrating radar (B) Borehole investigation 

 uøμ Fk¸Ä® ÷μhõº  BÌxøÍ PsPõo¨¦ 

(C) Sonic tomography (D) Infrared thermography 
 J¼ ÷hõ÷©õQμõ¤  APa]Á¨¦ ÷hõ÷©õQμõ¤ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

12. The following samprokshanam is done for newly constructed 
temples 
¦vuõP Pmh¨£k® ÷Põ°ÀPÐUS ¤ßÁ¸® \®¨÷μõUån® 
ö\´¯¨£kQÓx 

(A) Avartam (B) Anavartam 

 BÁºzu®  A|õÁºzu® 

(C) Punaravartham (D) All the above 
 ¦ÚμõÁºzu®  ÷©÷» TÔ¯ AøÚzx® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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13. Choose the right matches among type 
¤ßÁ¸ÁÚÁØÔÀ \�¯õÚ Cønø¯U PshÔP 

(i) Male bricks � The bricks with linear edges 
 Bs ö\[PØPÒ � ÷|�¯À ÂÎ®¦PøÍU öPõsh ö\[PØPÒ 

(ii) Female bricks � The bricks  in Concave shape  
 ö£s ö\[PØPÒ � SÈÁõÚ ÁiÁ�øh¯ ö\[PØPÒ 

(iii) Neuter bricks � The bricks in curved shape 
 |k{ø» ö\[PØPÒ � ÁøÍ¢u ÁiÁzv»õÚ ö\[PØPÒ 

(A) (i) and (ii) are correct (B) (i) is correct 

 (i) ©ØÖ® (ii) \�  (i) ©mk® \� 

(C) (ii) is correct (D) (iii) is correct 
 (ii) ©mk® \�  (iii) ©mk® \� 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

14. Stone stitching means 
PÀ øu¯À Gß£x 

(A) Powdered stone  
 ö£õi ö\´¯¨£mh PÀ 

(B) Resin based 

 öμ]ß Ai¨£øh°»õÚ 

(C) Resin based and stainless steel  
 öμ]ß Ai¨£øh°»õÚ ©ØÖ® x¸¨¤iUPõu GLS 

(D) Mixed soil 
 ©s P»øÁ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 





510-Civil Engineering Traditional     
Architecture and Traditional        
Sculpture  
 

12

15. For stone preservation, magnesium fluorosilicate, zinc fluorosilicate, 
aluminium fluorosilicate and ������ are important. 
P¸[PÀø» £õxPõUP ©õ[PÜ_ L¦÷Íõ÷μõ ]¼U÷Pm, xzu|õP® 
L¦÷Íõ÷μõ]¼U÷Pm, A¾ªÛ¯® L¦÷Íõ÷μõ]¼U÷Pm ©ØÖ® �����
Gß£Ú �UQ¯©õÚuõS®. 

(A) Lead fluorosilicate (B) Lime 

 ö»m L¦÷Íõ÷μõ]¼U÷Pm  _snõ®¦ 

(C) Cement (D) Sand 
 ]ö©sm  ©nÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

16. Dirt removal from stone by means of pure water 
y´ø©¯õÚ }�ß �»® PØPÎÀ C¸¢x AÊUQøÚ }UP 

(A) Steam cleaning (B) Chemical cleaning 

 usk y´ø© ö\´uÀ  ÷Áv¨ö£õ¸Ò y´ø© ö\´uÀ

(C) Alkaline cleaners (D) Organic cleaners 
 Põμzy´ø© ö\´uÀ  P�©zy´ø© ö\´uÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

17. The walls themselves may also be heated to prevent 
_ÁºPÒ GuøÚz uk¨£uØPõP uõ©õP÷Á `hõUP¨£h»õ®

(A) Condensation (B) Elimination 

 JkUP®  }USuÀ 

(C) Attention (D) Observation 
 PÁÚ®  EØÖ÷|õUPÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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18. The temples under the H.R. and C.E are called as 
C¢x\©¯ AÓ{ø»¯z xøÓ°ß RÌ EÒÍ ÷Põ°ÀPÒ CÆÁõÖ 
AøÇUP¨£kQßÓÚ 

(A) Sanctity temple (B) Historical monuments 

 ¦Ûu v¸U÷Põ°À  Áμ»õØÖ {øÚÄa ]ßÚ[PÒ 

(C) Living monuments  (D) Source of income 
 ÁõÊ® {øÚÄa ]ßÚ[PÒ  Á¸Áõ´ Buõμ®  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

19. Stains on bricks may also be due to  
ö\[PØPÎÀ PøÓPÒ C¸¨£uØS Cx Põμn©õP C¸UP»õ®  

(A) Efflorescence  (B) Sulphate  
 ©»ºa]   \ÀL÷£m 

(C) Masonry  (D) Disintegration  
 Pmk©õÚ®   ]øuÄ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

20. The practice of renovating the existing structures followed for a long
time is called 
HØPÚ÷Á EÒÍ Pmhø©¨ø£ ¦x¨¤US® |øh�øÓø¯ |õ® öuõßÖ 
öuõmk ¤ß£ØÔ Á¸Q÷Óõ® Gß£øu SÔ¨£x  

(A) Jeernodharana (B) Youvanam 

 ãº÷ÚõuμÚõ   ²÷ÁõuÚõ  

(C) Padavargam  (D) Shikara  
 £õhÁºP®   ]UPõμõ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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21. From the given answers, identify the animals that are supporting
the cross beams of the Eastern ornamental gateway of the Sanchi
Maha Stupa.  
\õg] ©íõ ìy¤°ß QÇUS ÷uõμnÁõ°¼ß SÖUS Âmh[PøÍ 
uõ[Q¯ {ø»°À EÒÍ Â»[SPÒ  

(A) Lions (B) Horses 

 ][P[PÒ  SvøμPÒ  

(C) Elephants  (D) Dwarfs  
 ¯õøÚPÒ  SØÓPn[PÒ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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22. Place the given sculptures of the Deogarh Dasavatar temple in their 
correct places  : 

v÷¯õPº u\õÁuõμa ]Ø£[PøÍ E�¯ ChzvÀ ö£õ¸zxP.  

(a) Vishnu seated on the 1. In the kostam on the eastern wall 
 Adisesha-Vahana    of the sanctum 
 Bv÷\å ÁõPÚzvÀ    P¸ÁøÓ QÇUS _Áº & ©õh¨¤øÓ°À
 A©º¢u & Âèq 
(b) Vishnu in a reclining- 2. In the kostam on the - northern  
 position on the    wall of the - sanctum  
 Adisesha-Vahana 
 Bv÷\å ÁõPÚzvÀ    P¸ÁøÓ ÁhUS _Áº & ©õh¨¤øÓ°À
 \¯ÚzvÀ & Âèq 
(c) Naran-Narayanan   3. In the kostam on the - southern 
 sculpture   wall of the - sanctum 
 |μß, |õμõ¯nß ]Ø£®  P¸ÁøÓ öuØS _Áº & ©õh¨¤øÓ°À

(d) Gajendra Moksha   4. Above the  entrance of the -  
 sculpture   sanctum in the middle  
 P÷á¢vμ÷©õm\® ]Ø£®   P¸ÁøÓ ~øÇÁõ°¼ß & ÷©À 

|kÂÀ 

 (a) (b) (c) (d) 
(A) 4 3 1 2 
(B) 3 4 2 1  
(C) 2 1 4 3 
(D) 1 3 4 2 
(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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23. The oldest �garuda pillar� in India and it is vedic religious symbol,
made of a single stone. This pillar is built in  
C¢v¯õÂß ªP¨ ¦μõuÚ©õÚ, øÁvP ©ua]ßÚ©õÚ J÷μ PÀ»õÀ 
ö\´¯¨£mh P¸hzys {ÖÁ¨£mh Ch® SÔ¨¤kP. 

(A) Besnagar  (B) Tisawa 

 ö£ì|õPº   v\õÁõ  

(C) Deogarh  (D) Eran  
 v÷¯õPº   Hμõß  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

24. Find the number of floor of Anantha Sayanagudi cave temple in
Undavalli, Andhrapradesh. 
B¢vμ ©õ{»® EshÁÀ¼°À EÒÍ AÚ¢u\¯ÚUSi SøhÁøμ&uÍ[PÒ 
RÌÁ¸ÁÚÁØÖÒ JßÖ, SÔ¨¤kP. 

(A) One (B) Two 

 J¸ uÍ®  Cμsk uÍ[PÒ 

(C) Three (D) Four 
 �ßÖ uÍ[PÒ  |õßS uÍ[PÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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25. The Sanchi great stupa is __________ feet in diameter and
__________ feet height.  
\õg] ©íõ ìy¤°ß Âmh�®, E¯μ�® RÌPõq® �øÓ÷¯ Ai AÍÄ 
öPõshuõS®, AÁØøÓ GÊxP  

(A) 110, 51 (B) 120, 54 

 110 Ai, 51 Ai  120 Ai, 54 Ai 

(C) 125, 55 (D) 130, 60 

 125 Ai, 55 Ai   130 Ai, 60 Ai 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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26. Match the following with the correct ones  : 

ö£õ¸zxP : 

(a) Anda  1. Square platform on top of a  
     hemisphere  
 Ash®    vsø©¯õÚ AøμU÷PõÍzvß ÷©À 

Aø©¢u \xμ ÷©øh  
(b) Harmika   2. The main part of the stupa is the 
     hemispherical part 
 íºªP®     ìy¤°ß �UQ¯¨ £Sv¯õÚ 

vsø©¯õÚ AøμU÷PõÍ¨ £Sv

(c) Vedika    3. The staircase leading to the  
     platform that supports the 

hemispherical portion of the stupa
 ÷ÁvPõ    ìy¤ Aø©¢v¸US® ÷©øhUS 

÷£õS® £iPmk 
(d) Shobanam    4. Fence around the stupa 
 ÷\õ£õÚ®     ìy¤ Aø©¢u ÷©øhø¯a 

_ØÔ°h¨£k® ÷Á¼ 

 (a) (b) (c) (d) 
(A) 2 1 4 3 
(B) 3 2 4 1  
(C) 4 3 1 2 
(D) 1 4 2 3 
(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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27. The seals of the Harappan civilization were not made by one of the
following things.  
íμ¨£õ |õP�Pzvß �zvøμPÒ RÌPshÁØÖÒ JßÓõÀ ö\´¯¨£hÂÀø»

(A) Terracotta (B) Stone 

 PÎ©s PÀ

(C) Iron  (D) Copper 
 C¸®¦  ö\®¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

28. The four ornamental gateways (toranas) currently found at the
sanchi great stupa were created by the __________ dynasty.  
\õg] ö£¸¢x�Î°À uØ÷£õx Põn¨£k® |õßS ö£�¯ 
÷uõμnÁõ°ÀPÐ® RÌÁ¸® J¸ ©μ¤ÚμõÀ E¸ÁõUP¨£mhøÁ.  

(A) Maurya  (B) Shunga 

 ö©Í�¯º   _[Pº 

(C) Sathavahana (D) Gupta  
 \õuÁõPÚº   S¨uºPÒ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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29. Among the following cave temples created by chalukyas find the
cave temple with a sanctum in the �sarvodapatra� style structure
with gate on all four sides.  
\õÐUQ¯º E¸ÁõUQ¯ SøhÁøμPÐÒ, |õßS ¦Ó�® Áõ°ÀöPõsh 
�\º÷Áõu£zμõ� GßÝ® Aø©¨¤À P¸ÁøÓ öPõsh & SøhÁøμ EÒÍ 
Chzøu SÔ¨¤kP. 

(A) Dumarlena cave Ellora  

 x©º÷»Úõ SøhÁøμ, GÀ÷»õμõ   

(B) Cave No-3, Vadabi 
 SøhÁøμ Gs. 3 Áõuõ¤ 

(C) Ravanaphadi cave, Aihole  
 μõÁn£õi SøhÁøμ, I÷íõ÷Í 

(D) Cave No-2, Vadabi 
 SøhÁøμ Gs&2 Áõuõ¤ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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30. Choose the right matches among type.  
¤ßÁ¸ÁÚÁØÖÒ \�¯õÚ Cønø¯U PshÔP.  

(1) Bana  �  Shield  
 £õn®   ÷Ph¯® 

(2) Khadga  �  Sword 
 PhP®   ÁõÒ 

(3) Vajra  �  Trident 
 Áäμ®   v�`»® 

(4) Parasu  �  Battle-axe 
 £μ_  ÷Põhõ¼

(A) (1) and (2) are correct (B) (2) and (4) are correct 

 (1) ©ØÖ® (2) \�  (2) ©ØÖ® (4) \� 

(C) (3) and (4) are correct (D) (4) and (1) are correct 
 (3) ©ØÖ® (4) \�  (4) ©ØÖ® (1) \� 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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31. Match the following : 

ö£õ¸zxP : 

(a) 8 nusaparam  (8 atom) 1. tip of a thin hair (one )gralalav  

 8 £μ©õq   J¸ ©°º ~Û 
(b) 8 ratharenu (8 dust) 2. one red paddy (one yava) 
 8 ÷uºzxPÒ     J¸ ¯øÁ 
(c) 8 kauy  (8 louse)    3. one nit (one )aliks  

 8 ÷£ß    J¸ Dº 
(d) 8 graalav  (8 tip of   4. one ratharenu (one dust) 

 - a thin hair) 
 8 ©°º~Û     J¸ ÷uºzxPÒ 

 (a) (b) (c) (d) 
(A) 4 1 2 3 
(B) 1 3 2 4  
(C) 3 1 4 2 
(D) 2 4 3 1 
(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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32. The lingam which has a large base and resembles a coconut is called 
Ai¨£Sv £¸zx® ÷u[Põ°ß ÷uõØÓzøu Jzux©õÚ C»[PzvØS 
__________  GßÖ ö£¯º.  

(A) Thaivatham (B) nabhamaG  

 øuÁu®  Põn£®  

(C) Aarusham (D) namaBh  
 B¸å®   £õn®  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

33. Match hair styles with the appropriate deity : 

uø»U÷Põ»[PøÍ E�¯ PhÄ÷Íõk ö£õ¸zxP : 

(a) Jada mandala  1. Rishabhantikar  
 áhõ ©sh»®   �å£õ¢vPº 
(b) Charpamavli  2. Natarajar 
 \º¨£ ö©Í¼     |hμõáº 
(c) Verisadai    3. Kalaimagal (Saraswati) 
 Â�\øh    Pø»©PÒ 
(d) Kesapandam    4. Dakshinamurthy 
 ÷P\ £¢u®     uU]nõ�ºzv 

 (a) (b) (c) (d) 
(A) 4 1 2 3 
(B) 3 2 4 1  
(C) 2 1 3 4 
(D) 1 4 2 3 
(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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34. From the following state the number of hand gestures mentioned in
the sirpa-shastra texts.  
¤ßÁ¸ÁÚÁØÖÒ C¸¢x ]Ø£\õìvμ ¡ÀPÎÀ TÓ¨£k® øP 
Aø©vPÎß GsoUøPø¯ TÖP.  

(A) 28 (B) 30 

(C) 32 (D) 36 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

35. Assertion [A] : Palagai is supported by the petals of a lotus is 
called idal. 

TØÖ [A] :    £»øP¯õÚx uõ©øμ CuÌ GÚ¨£k® AkUSPÎß
xøn÷¯õk EÒÍx. 

Reason [R] :  Nagabandham is a little ornament. 

Põμn® [R] :  |õP£¢u® Gß£x ]Ô¯ B£μn® BS®. 

(A) [A] is true but [R] is false 

 [A] \� BÚõÀ [R] uÁÖ 

(B) Both [A] and [R] are true, and [R] is the correct explanation of 
[A]  

 [A] ©ØÖ® [R] Cμsk® \�, ©ØÖ® [R] Gß£x [A] US \�¯õÚ 
ÂÍUP©õS® 

(C) [A] is false [R] is true 

 [A] Gß£x uÁÖ, [R] \� 

(D) Both [A] and [R] are true but [R] is not the correct explanation 
of [A]  

 [A] ©ØÖ® [R] Cμsk® \� BÚõÀ [R] Gß£x [A]US \�¯õÚ 
ÂÍUP® AÀ» 

(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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36. The Garbagriha is called 
P¸ÁøÓ CÆÁõÖ AøÇUP¨ö£Ö® 

(A) Gopura (B) Linga 

 ÷Põ¦μ®  ¼[P® 

(C) Avudai (D) Mulasthanam 
 BÄøh  �»ìuõÚ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

37. A Mandapam located in the middle of a temple pond is typically
called a  
÷Põ°¼ß ö£�¯ öu¨£USÍ[PÎß |k÷Á, Aø©¢u ©sh£[PÐUS 
__________ GßÖ ö£¯º. 

(A) Neeruta mandapa (B) Theppa mandapa 

 }¸ØÖ ©sh£®  öu¨£ ©sh£® 

(C) Neerali mandapa (D) Suhasana mandapa 
 }μõÎ ©sh£®  _Põ\Ú ©sh£® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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38. From the given answers, find the name of the structural system that
comes between the two when the size of the �Mugamandapa� is equal
of the size of the sanctum. 
uμ¨£mkÒÍ ÂøhPÎÀ C¸¢x �P©sh£zvß AÍÁõÚx P¸ÁøÓ°ß 
AÍÄUS \©©õP C¸US®÷£õx, CμskUS® Cøh÷¯ Á¸® Pmk©õÚ 
Aø©¨¤ß ö£¯øμ PshÔP. 

(A) Antarala (B) Chandarala 

 A¢uμõÍ®  \¢uμõÍ® 

(C) Vediga (D) Panti 
 ÷ÁvøP  £si 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

39. From the following, identify the element that supports the structure
called �Stupi� in the temple vimana. 
RÌPshÁØÖÒ C¸¢x ÷Põ°À Â©õÚzvÀ ìy¤ GßÓ Aø©¨ø£ uõ[Q 
{ØS® EÖ¨ø£ PshÔP. 

(A) Bhitti (B) Sikharam 

 ¤zv  ]Pμ® 

(C) Kantam (D) Prastaram 
 Psh®  ¤μìuμ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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40. From the answer given, give the term that refers to digging until 
you reach hard rock or hard soil when digging a foundating. 
uμ¨£mkÒÍ ÂøhPÎÀ C¸¢x AìvÁõμ® ÷uõsk®ö£õÊx P¸[PÀ 
AÀ»x PiÚ©s QøhUS® Áøμ ÷uõskÁøu SÔUS® ö\õÀø» u¸P. 

(A) Silākāntham (B) Silāhtham 

 ]»õPõ¢u®  ]»õ¢u® 

(C) Vālukantham (D) Vālāntham 
 Áõ¾Põ¢u®  Áõ»õ¢u® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

41. Influence factor for immediate settlement of footing depends on its 
AizuÍzvß EhÚi uõÌa]UPõÚ uõUP Põμo Auß __________ «x® 
\õº¢v¸UQÓx. 

(A) Size and  shape 
 AÍÄ ©ØÖ® ÁiÁ® 

(B) Rigidity alone  
 vhzußø© ©mk÷© 

(C) Location and size 
 Ch® ©ØÖ® AÍÄ 

(D) Size, shape, rigidity and location 
 AÍÄ, ÁiÁ®, vhzußø© ©ØÖ® Ch® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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42. Ratio of bearing capacity of double under reamed pile to that of 
single under reamed pile is nearly  
Cμmøh Ashº&�®k Aizys ©ØÖ® J÷μ Ashº&�®k Aizys 
uõ[S® vÓß ÂQu® __________ BS®. 

(A) 1.5 (B) 2.0 

(C) 1.7 (D) 1.2 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

43. The hydrated lime called slaked lime is commonly used for  
ì÷»Uk _snõ®¦ GÚ¨£k® }÷μØÓ¨£mh _snõ®¦ ö£õxÁõP 
____________ US £¯ß£kzu¨£kQÓx 

(A) Lime stabilization (B) Soil stabilization 

 _snõ®¦ {ø»¨£kzuÀ  ©s {ø»¨£kzuÀ 

(C) Bituminous stabilization (D) Asphalt stabilization 
 ¤m³ªßì {ø»¨£kzuÀ  {»URÀ {ø»¨£kzuÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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44. If a cone is used to penetrate the subsoil the test is called 
©soß Ai¨£Sv°À Fk¸Á T®¦ £¯ß£kzu¨£mhõÀ, A¢u ÷\õuøÚ 
__________ GßÖ AøÇUP¨£kQÓx. 

(A) Standard penetration test 
 {ø»¯õÚ Fk¸ÁÀ ÷\õuøÚ 

(B) Cone penetration test  
 T®¦ Fk¸ÁÀ ÷\õuøÚ 

(C) Piezometer test 
 ø£÷\õ«mhº ÷\õuøÚ 

(D) Bore hole test 
 xøÍ xøÍ ÷\õuøÚ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

45. It is assumed that the resultant reaction is tangential to the friction
circle in 
Cuß ÂøÍÁõP Á¸® ÂøÚ¯õÚx __________CÀ EÒÍ Eμõ´Ä 
ÁmhzvØS öuõk{ø»¯õP C¸US® GßÖ P¸u¨£kQÓx. 

(A) Friction circle method 
 Eμõ´Ä Ámh �øÓ 

(B) Slip circle method  
 \ÖUS Ámh �øÓ 

(C) Tangential chord method 
 öuõk |õs �øÓ 

(D) Critical slip circle method 
 �UQ¯ \ÖUS Ámh �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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46. The usual value of specific gravity for thin liquid of bituminous
material is 
¤m²ªÚì ö£õ¸Îß ö©À¼¯ vμÁzvØPõÚ ÁÇUP©õÚ SÔ¨¤mh Dº¨¦ 
Âø\ ©v¨¦ 

(A) 0.80 (B) 0.85 

(C) 0.90 (D) 0.92 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

47. The joints provided along the strips in rigid pavement construction 
are known as 
vh©õÚ |øh£õøu Pmk©õÚzvÀ RØÖPÎÀ ÁÇ[P¨£k® Cøn¨¦PÒ 
__________ GßÖ AøÇUP¨£kQßÓÚ. 

(A) Lateral joints (B) Longitudinal joints
 £UPÁõmk Cøn¨¦PÒ  }Í©õÚ Cøn¨¦PÒ 

(C) Horizontal joints (D) Vertical joints 
 Qøh©mh Cøn¨¦PÒ  ö\[Szx Cøn¨¦PÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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48. For aggregates normally used in road construction the water
absorption value varies from  
\õø» Pmk©õÚzvÀ ö£õxÁõP £¯ß£kzu¨£k® ö£õ¸mPÐUS, }º 
EÔg_uÀ ©v¨¦ __________ Áøμ ©õÖ£k® 

(A) 0.1 to 1 percent (B) 0.01 to 0.1 percent 

 0.1 �uÀ 1 \uÃu®  0.01 �uÀ 0.1 \uÃu® 

(C) 0.1 to 2 percent (D) 0.1 to 0.5 percent 
 0.1 �uÀ 2 \uÃu®  0.1 �uÀ 0.5 \uÃu® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

49. The Bituminous concrete is used as binder course and wearing
course. For medium and heavy traffic, binding course of __________
thickness will be sufficient. 
¤m³©Úì PõßQ�m ø£shº ÷Põºì ©ØÖ® ÷u´©õÚ ÷Põºì BP¨ 
£¯ß£kzu¨£kQÓx. |kzuμ ©ØÖ® AvP ÷£õUSÁμzvØS __________
ui©ß öPõsh ø£shº ÷Põºì ÷£õx©õÚuõP C¸US®. 

(A) 40 mm to 50 mm (B) 30 mm to 40 mm 

 40 ª« �uÀ 50 ª« Áøμ  30 ª« �uÀ 40 ª« Áøμ 

(C) 35 mm to 45 mm (D) 25 mm to 30 mm 
 35 ª« �uÀ 45 ª« Áøμ  25 ª« �uÀ 30 ª« Áøμ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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50. The minimum shoulder width recommended by the IRC is 
IRC £�¢xøμzu SøÓ¢u£m\ ÷uõÒ£møh AP»® 

(A) 2.50 m (B) 2.30 m 

 2.50 «  2.30 « 

(C) 2.60 m (D) 2.00 m 
 2.60 «  2.00 « 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

51. The specific gravity of rocks varies from 
£õøÓPÎß SÔ¨¤mh Dº¨¦ __________C¼¸¢x ©õÖ£k®. 

(A) 2.5 to 2.6 (B) 2.4 to 2.5 

 2.5 �uÀ 2.6 Áøμ  2.4 �uÀ 2.5 Áøμ 

(C) 2.6 to 2.9 (D) 2.2 to 2.5 
 2.6 �uÀ 2.9 Áøμ  2.2 �uÀ 2.5 Áøμ

(E) Answer not known 
 Âøh öu�¯ÂÀø»

52. The super elevation (e) is a direct function of the square of the 
`¨£º C¼÷Áåß Gß£x ���������� Cß ÁºUPzvß ÷|μia \õº¦ BS® 

(A) RVe 127/2=  (B) RVe 127/3=  

(C) RVe 127/=  (D) 
127

2V
e =  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



   510-Civil Engineering Traditional 
  Architecture and Traditional 
  Sculpture 
  [Turn over 

33

53. The maximum height of double decked vehicle recommended by IRC
is ���������� 
I.Bº.] £�¢xøμzu Cμmøh AkUS ÁõPÚzvß AvP£m\ E¯μ® 

(A) 2.50 m (B) 3.80 m 

2.50 «mhº 3.80 «mhº

(C) 4.20 m (D) 4.75 m 
 4.20 «mhº  4.75 «mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

54. The curve which shows the distribution of excess hydrostatic
pressure at a given time during the process of consolidation is
known as 
J¸[Qøn¨¦ ö\¯À£õmiß ÷£õx J¸ SÔ¨¤mh ÷|μzvÀ AvP¨£i¯õÚ 
}º{ø» AÊzuzvß £μÁø» Põmk® ÁøÍÄ ���������� GÚ¨£k® 

(A) Isobar  

 I÷\õ£õº  

(B) Iso chrome 
 I÷\õS÷μõ® 

(C) Co-efficient of consolidation  
 J¸[Qøn¨¤ß SnP®  

(D) Hydrostatic pressure 
 øím÷μõì÷hiU AÊzu® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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55. An isobar is a curve which 
I÷\õ£õº Gß£x ���������� J¸ ÁøÍÄ BS® 

(A) Joins points of equal horizontal stress  

 \©©õÚ Qøh©mh ¦ÒÎPøÍ CønUS®  

(B) Joins points of equal vertical stress 
 \©©õÚ ö\[Szx ¦ÒÎPøÍ CønUS® 

(C) Joins points of maximum horizontal stress  
 AvP£m\ Qøh©mh ¦ÒÎPøÍ CønUS®  

(D) Joins points of maximum vertical stress 
 AvP£m\ ö\[Szx ¦ÒÎPøÍ CønUS® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

56. The coefficient of permeability of a soil varies as 
©soß Fk¸Ä vÓß SnP® ���������� GÚ ©õÖ£k® 

(A) ( ) kee =+1/2  (B) ( ) kee =+1/3  

(C) ( ) kee =+1/  (D) ( ) kee =+ 3/1  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

57. The term density index (or relative density) of a soil DI  
©soß Ahºzv SÔ±k (AÀ»x J¨¥mk Ahºzv) DI  

(A) ( ) ( )minmaxmax / eeeeID −−=  (B) ( )minmaxmax / eeeID −=  

(C) ( ) ( )eeeeID −−= maxminmax /  (D) ( ) ( )minmaxmax / eeeeID −−=  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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58. Relative compaction (Rc) is 
J¨¥mk _¸UP® (Rc) Gß£x 

(A) (max)/(field) ddcR γγ=  (B) (field)/(max) ddcR γγ=  

 (max)/(field) ddcR γγ=    dcR γ= ({øÓ)/ dγ  (¦»®) 

(C) (max)/(Comp) ddcR γγ=  (D) (field)/(comp) ddcR γγ=  

 dcR γ=  (_¸UP®)/ dγ  ({øÓ)  dcR γ= (_¸UP®)/ dγ (¦»®) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

59. A dry soil has mass specific gravity of 1.35. If the specific gravity of
solids is 2.75, then the void ratio will be 
J¸ E»º¢u ©soß {øÓ SÔ¨¤mh Dº¨¦ Âø\ 1.35 BS®. 
vh¨ö£õ¸Îß SÔ¨¤mh Dº¨¦ Âø\ 2.75 BP C¸¢uõÀ öÁØÔh ÂQu® 
����������  BP C¸US® 

(A) 0.5 (B) 1.0 

(C) 1.5 (D) 2.0 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

(¦»®) ({øÓ)
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60. Soils resulting from rock weathering and not transported but
remain at the place of formation are called  
£õøÓ Â¯õ\nzuõÀ (weathering) E¸ÁõQ, G[S® |Pºzu£hõ©À A÷u 
ChzvÀ EÒÍ ©søn ���������� GßÖ AøÇUP¨£kQÓx 

(A) Alluvial (B) Residual 

 ÁshÀ ©s  �» ©s 

(C) Aeolian (D) Colluvial 
 H¼¯ß ©s  Tmk ©s 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

61. The ���������� of a material is equal to thermal resistivity multiplied 
by its thickness 
J¸ ö£õ¸Îß öÁ¨£ Gvº£k® ußø© Auß ui©ÚõÀ ö£¸UP¨£k® 
÷£õx Ax ���������� \©® 

(A) Thermal conductivity (B) Thermal resistance 

 öÁ¨£ PhzxvÓß  öÁ¨£ Gvº¨¦ 

(C) Surface resistance  (D) Total thermal resistance 
 ÷©Ø£μ¨¦ Gvº¨¦  ö©õzu öÁ¨£ Gvº¨¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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62. Scrapers are best suited for haul distance greater than 500 ft but
less than ���������� ft 
_μsi C¯¢vμ[PÒ 500 AiUS ÷©»õÚ CÊzuÀ yμ[PÐUS ]Ó¢uøÁ, 
BÚõÀ ���������� AiUS RÌ EÒÍ yμ[PÐUS EP¢ux 

(A) 1000 ft (B) 1500 ft 

 1000 Ai  1500 Ai 

(C) 2000 ft (D) 3000 ft 
 2000 Ai  3000 Ai 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

63. The process of fresh air is forced into a room and the used air is
allowed to leave room by itself or is extracted by outlet for is called
as  
J¸ AøÓ°À ¦v¯ PõØøÓ Á¾Åmi÷¯ EÒ÷Í AÊzv AÝ¨¤, £øÇ¯ 
PõØÖ uõÚõP öÁÎ÷¯Ó÷Áõ AÀ»x öÁÎ°À GkzxÂk® Â]Ô �»® 
öÁÎ÷¯ØÓ£h÷Áõ ö\´²® ö\¯À�øÓ ���������� GßÖ 
AøÇUP¨£kQÓx 

(A) Exhaust system  

 GUéõìm ]ìh®  

(B) Supply system 
 \¨øÍ ]ìh® 

(C) Plenum process  
 ¤ÎÚ® ö\¯À�øÓ  

(D) Combination of exhaust and supply system 
 GUéõìm ©ØÖ® \¨øÍ ]ìhzvß Cøn¨¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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64. For ordinary Portland cement, the curing period is about ����������
days  
\õuõμn ÷£õºm÷»sm ]ö©siØS PiÚ¨£kzx® Põ»® _©õº ����������
|õmPÒ BS® 

(A) 14 to 28 (B) 7 to 14 

 14 �uÀ 28  7 �uÀ 14 

(C) 0 to 14 (D) 21 to 28 
 0 �uÀ 14  21 �uÀ 28 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

65. For compressive strength determination of concrete the minimum
number of cubes required in a sample is 
PõßQ�miß AÊzu Á¼ø©ø¯ wº©õÛUP, ©õv�°À SøÓ¢u£m\©õP 
÷uøÁ¯õÚ U³¨PÎß GsoUøP ���������� BS® 

(A) 5 (B) 3 

(C) 6 (D) 2 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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66. The cementitious character of ground granulated Blast furnace slag
is due to the presence of calcium, magnesium and  
|_UQ¯ xPÒ©¯©õÚ  öÁi SÇõ´ \õ®£À (ground granulated blast 
furnace slag) Cß ]ö©ßm ÷£õßÓ £s¦PÒ C¸¨£uØS Põμn® 
PõÀ]¯®, ©UÜ]¯® ©ØÖ®  ���������� C¸¨£x uõß 

(A) Silica (B) Aluminium 

 ]¼Põ  A¾ªÛ¯® 

(C) Iron (D) Zinc 
 C¸®¦  xzu|õP® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

67. Bleeding of concrete is expressed quantitatively as the percentage of
���������� 
PõßQ�miß ¦Î¯À (Bleeding of concrete)  Gß£x ���������� \uÃu©õP 
öÁÎ¨£kQÓx 

(A) Mixing aggregate (B) Mixing cement 

 P»øÁ AP®  P»øÁ ]ö©smiß 

(C) Mixing water (D) Mixing admixture 
 P»øÁ }�ß  P»øÁ ÷\ºUS® ö£õ¸Îß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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68. Compacting factor of concrete is 
PõßQ�miß _¸UP Põμo ���������� BS® 

(A) Weight of fully compacted concrete 

 Weight of partially compacted of concrete  

 �Êø©¯õP _¸UP¨£mh PõßQ�miß Gøh 
 
 £Sv¯ÍÄ _¸UP¨£mh PõßQ�miß Gøh 

(B) Weight of partially compacted 
 
 Weight of fully compacted concrete 
 
 £Sv¯ÍÄ _¸UP¨£mh PõßQ�miß Gøh 
 
 �Êø©¯õP _¸UP¨£mh PõßQ�miß Gøh 

(C) Weight of uncompacted concrete 

 Weight of compacted concrete  
 _¸UP¨£hõu PõßQ�miß Gøh 
 
 _¸UP©õÚ PõßQ�miß Gøh  
 

(D) Weight of compacted concrete  
 
 Weight of uncompacted concrete 
 _¸UP©õÚ PõßQ�miß Gøh 
 
 _¸UP¨£hõu PõßQ�miß Gøh 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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69. The flow properties of fresh concrete are mainly depends upon  
¦v¯ (fresh) PõßQ�miß Kmhzußø© �UQ¯©õP ______________
ö£õ¸z÷u Aø©QÓx. 

(A) Water cement ratio 
 }º&]ö©sm ÂQu®  

(B) Factors effecting resistance to deformation 

 ÁiÁ©õÖu¾US Gvº¨¦ AÎUS® Põ�¯[PøÍ £õvUS® PõμoPÒ  

(C) Aggregate shape and texture 
 AU�÷PmkPÎß ÁiÁ�®, ÷©Ø£μ¨¦®  

(D) Aggregate grading and fineness 
 AU�÷PmkPÎß uμ{ºn¯® ©ØÖ® ~sqø© 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

70. Vibrating compactors create ______________ forces which gives greater 
compaction energy than an equalent static load.  
AvºÄ AøhzuÀ C¯¢vμ[PÒ ______________ Âø\PøÍ EshõUQ, A÷u 
AÍÂ»õÚ {ø»¯õÚ £õμzøu Âh AvP©õÚ \Uvø¯ ÁÇ[SQÓx. 

(A) Vibrational forces (B) Gravitational forces 

 AvºÄ Âø\PÒ  Dº¨¦ Âø\PÒ 

(C) Impact forces (D) Compressive forces 
uõUP Âø\PÒ A�US Âø\PÒ

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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71. The ______________ property of the super plasticizer is the prime
importance for its effectiveness in reducing water content in
portland cement mixer 
÷£õºm÷»sm ]ö©sm P»øÁPÎÀ }º EÒÍhUPzøu SøÓ¨£vÀ Auß 
ö\¯À vÓÝUS `¨£º ¨Íõìiøé\�ß ______________ £s¦ 
�ußø©¯õÚx. 

(A) Size of molecule (B) Specific gravity 

 �»UTÔß AÍÄ  SÔ¨¤mh Dº¨¦ 

(C) Molecular mass (D) Viscosity 
 �»UTÖ {øÓ  £õSzußø© 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

72. For precast paving slab the degree of workability is 
�ß Áõº¨¦ |øh£õøu AkUSPÐUS, ÷Áø» ö\´²® ußø©°ß AÍÄ 

(A) 25-50 mm (B) 50-100 mm 

 25-50 ª«  50-100 ª« 

(C) Zero (D) 10-25 mm 
 0  10-25 ª« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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73. In the float method of manufacturing of glass, the Melton glass from
the furnace is floated over 
Psnõi EØ£zv ö\´²® ªuøÁ �øÓ°À, Eø»°À C¸¢x E¸Q¯ 
Psnõi ____________ «x ©õØÓ¨£k® 

(A) Molten tin (B) Molten lead 

 E¸Q¯ uPμ®  E¸Q¯ D¯® 

(C) Steel plate (D) Molten nickel 
 GLS uPk  E¸Q¯ {UPÀ

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

74. Creosote is a  
Q�÷¯õ÷\õm Gß£x  

(A) Seasoning process (B) Wood preservative 

 £u¨£kzx® ö\¯À  ©μ¨£õxPõ¨£õß 

(C) Lignite with fibre (D) Sap wood 
 |õºPÐhß Cøn¢u ¼UøÚm  \õÖ ©μ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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75. ______________ is the results from the division of the main stem into
two or more stems at any paint above the root collar. 
______________ Gß£x, �UQ¯z usk ÷Áº PÊzvß ÷©÷» G¢uöÁõ¸ 
¦ÒÎ°¾® Cμsk AÀ»x AuØS® ÷©Ø£mh QøÍPÍõP¨ ¤�²® 
ÂøÍÁõS®. 

(A) Forks (B) Ruptures 

 ¤ÍÄPÒ  QÈuÀ/øuÄ 

(C) Pitch (D) Wind crack 
 ©μ¨¤ø\  PõØÖ Põμn©õÚ ¤ÍÄ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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76. Percentage of bulking of fine aggregate = 
~svμß©zvß ÃUP \uÃu® Gß£x  

(A) 100
volumeBulked

volumeBulkedvolumeDry ×−
  

 100×   

(B) 100
volumeBulked

volumeBulkedVolumeWet ×−

 100×  

(C) 100
volumeDry

volumeDryvolumeBulked ×−
 

 100×   

(D) 100
volumeWet

volumeWetvolumeBulked ×−
 

 100×    

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

E»º¢u AÍÄ � £ÀQ[ AÍÄ

£ÀQ[ AÍÄ

Dμ©õÚ AÍÄ � £ÀQ[ AÍÄ 

£ÀQ[ AÍÄ

£ÀQ[ AÍÄ � E»º¢u AÍÄ

E»º¢u AÍÄ

£ÀQ[ AÍÄ - � Dμ©õÚ AÍÄ

Dμ©õÚ AÍÄ 
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77. A knot infected by fungus or insects is known as  
§gø\¯õÀ AÀ»x §a]PÍõÀ £õvUP¨£mh Ps (knot) Gß£x 

������ GßÖ AøÇUP¨£kQßÓx. 

(A) Line knot (B) Loose knot 

 ÷|º Ps  uÍº¢u Ps 

(C) Dead knot (D) Decayed knot 
 CÓ¢u Ps  AÇQ¯ Ps 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

78. The process of cement hydration involves  
]ö©sm }÷μØÓ® ö\¯À�øÓ Gß£x ������ BQ¯ÁØøÓ 
EÒÍhUQ¯x. 

(A) Drying of cement 
 ]ö©søh E»ºzxuÀ  

(B) Mixing with water to form a paste 

 usp¸hß P»¢x £ø\ E¸ÁõUSuÀ   

(C) Evaporation of water 
 }øμ BÂ¯õUSuÀ  

(D) Freezing of cement 
 ]ö©smøh EøÓ¯ øÁ¨£x 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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79. As per IS 383-1970 very fine aggregate comes under zone no  
IS 383-1970 uμ {ºn¯U SÔ±miß £i, ªP ~so¯ ©nÀ ______________
©sh»zvß RÌ ÁøP¨£kzu¨£kQÓx. 

(A) I (B) IV 

(C) II (D) V 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

80. The crushing strength of sedimentary rock of lime stone is between  
Aizumk £õøÓ & _snõ®¦ PÀ¼ß ö|ÔUS® \Uv ______________
C¸US®. 

(A) 10 to 50 N/mm2 (B) 1 to 10 N/mm2 

 10 �uÀ 50 {/ª«2 Áøμ  1 �uÀ 10 {/ª«2 Áøμ 

(C) 50 to 60 N/mm2 (D) 10 to 40 N/mm2 
 50 �uÀ 60 {/ª«2 Áøμ  10 �uÀ 40 {/ª«2 Áøμ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

81. In Mohori circle graph for maximum principal strain theory
obtained shape is   
÷©õí�ß ÁmhÁøμ£hzvÀ AvP£m\ �ußø© v�¦ ÷Põm£õmiØPõÚ 
ÁiÁ® ______________ BS®. 

(A) Square (B) Ellipse 

 \xμ®  }ÒÁmh® 

(C) Hexagon (D) Parallelogram 
 AÖ÷Põn®  ÷£öμÀ÷»õQμõ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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82. Maximum principal strain theory associated with  
AvP£m\ �ußø© v�¦ ÷Põm£õk ______________ Ehß öuõhº¦øh¯x. 

(A) Rankine theory (B) Tresa�s theory 

 μõ[Qß ÷Põm£õk  möμ\õÂß ÷Põm£õk 

(C) St. Venant theory (D) Haisu theory 
 ö\°ßm ÃÚßm ÷Põm£õk  ÷í´_ ÷Põm£õk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

83. If the number of members in a frame are more than (2j � 3) is known 
as  
J¸ iμìêÀ EÒÍ EÖ¨¤ÚºPÎß GsoUøP (2j � 3) I Âh AvP©õP 
C¸¢uõÀ Ax ______________ GÚ¨£k®. 

(A) Perfect frame (B) Deficient frame
 \�¯õÚ \mhP®  SøÓ£õkÒÍ \mhP® 

(C) Redundant frame (D) All the above 
 ªøP¨£kzu¨£mh \mhP®  ÷©ØPsh AøÚzx® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



   510-Civil Engineering Traditional 
  Architecture and Traditional 
  Sculpture 
  [Turn over 

49

84. When tensile stress in zero at a section then the relation between
direct stress and bending stress will be  
J¸ ¤�ÂÀ CÊÂø\ AÊzu® §äâ¯©õP C¸US® ÷£õx, ÷|μi 
AÊzuzvØS® ÁøÍÄ AÊzuzvØS® Cøh°»õÚ EÓÄ ______________
BS®. 

0σ  = Direct Stress 

0σ  = ÷|μi AÊzu® 

bσ = Bending stress 

bσ = ÁøÍÄ AÊzu® 

(A) bσσ =0  (B) bσσ >0  

(C) bσσ <0  (D) bσσ ≠0  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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85. State the resultant stress Rσ when a member subjected to two like
direct stresses in two mutually  perpendicular direction, then the
stresses on an oblique plane  inclined at an angle θ   
J¸ EÖ¨¤Úº Cμsk £μì£μ ö\[SzuõP Cμsk Jzu ÷|μi 

AÊzu[PÐUS Em£kzu¨£k® ÷£õx, J¸ ÷PõnzvÀ \õ´¢u uÍzvÀ (θ )
ÂøÍÁõÚ AÊzu® Rσ  ______________ BS®. 

∴ Rσ  = Resultant stress 

∴ Rσ  = ÂøÍÄ AÊzu® 

nσ  = normal stress 

 nσ = \õuõμn AÊzu® 

tσ = tangent stress 

 tσ  = öuõk÷Põmkz uøPÄ 

(A) tn σσ +  (B) tn σσ −  

(C) 22
tn σσ +  (D) 22

tn σσ −  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

86. The member is subjected to a simple shear stress �τ � in the Inclined 
plane at an angle of θ . The normal stress =nσ   
J¸ EÖ¨¤À GÎ¯ öÁmk AÊzu® �τ �  ©mk® ö\¯À£k® ÷£õx, J¸ 
\õ´Ä ÷PõnzvÀ �θ �  {PÊ® \õuõμn AÊzu® ���������� BS®. 

(A) θτ sin  (B) θτ 2sin  

(C) θτ cos  (D) θτ 2cos  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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87. The Theory satisfactory for ductile materials is 
ö|QÌÄ ußø©²ÒÍ ö£õ¸mPÐUS HØÓ ÷Põm£õk ���������� BS®. 

(A) Maximum Shear Stress theory   
 AvP£m\ öÁmk AÊzu ÷Põm£õk 

(B) Maximum Principal Stress theory  
 AvP£m\ �ußø© AÊzu ÷Põm£õk   

(C) Strain Energy theory  
 v�¦ BØÓÀ ÷Põm£õk   

(D) All the above 
 ÷©ØPsh AøÚzx® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

88. The following expressions represents the bending at a Section of the
beam? 
¤ßÁ¸® öÁÎ¨£õk J¸ PØøÓ°ß J¸ £Sv°À ÁøÍUS® 
v¸¨¦vÓøÚU SÔUQÓx.

(A) EI
dx

yd
4

4

 (B) EI
dx

yd
3

3
 

(C) EI
dx
dy

 (D) EI
dx

yd
2

2

 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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89. Tensile strain is 
CÊÂø\ v�¦ Gß£x 

(A) Increase in length/Original length  
 }ÍzvÀ AvP�¨¦/A\À }Í® 

(B) Decrease in length/Original length  
 }ÍzvÀ SøÓÄ/A\À }Í®   

(C) Change in volume/Original volume  
 AÍÂÀ ©õØÓ®/A\À AÍÄ 

(D) Original length/Increase in length  
A\À }Í®/}ÍzvÀ AvP�¨¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

90. A cantilever beam loaded at free end, the Bending moment Diagram
is  
J¸ �øÚ°À _ø©, ©ØöÓõ¸ �øÚ {ø»zu Põßi½Áº PØøÓ°ß 
ÁøÍÄ v¸¨¦vÓß Áøμ£h® ���������� C¸US®. 

(A) A Rectangle (B) A triangle 

 ö\ÆÁP®  �U÷Põn® 

(C) A Parabola (D) A Trapezium 
 £μ÷£õ»õ ÁøÍÄ  uiÁmh®  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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91. The slope at both ends of the fixed Beam is 
{μ¢uμ©õP AkUP¨£mh usiß C¸ �øÚPÎ¾® EÒÍ \õ´Ä ����������
BS®. 

(A) Maximum (B) Minimum 

 AvPm\ \õ´Ä  SøÓ¢u£m\ \õ´Ä 

(C) Zero (D) Constant 
 §äâ¯®  {ø»¯õÚ \õ´Ä 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

92. If a member is subjected to a uniform Bending moment (M), the 
radius of curvature of the differences form of the member is given by 
J¸ EÖ¨¤À {ø»¯õÚ ö©õö©ßm (M) ö\¯À£mhõÀ, A¢u EÖ¨¤ß 
ÁøÍ¢u ÁiÁzvß ÁøÍÄ _ØÓÍÄ ���������� \©ß£õmhõÀ 
PoUP¨£k®. 

(A) R
E

I
M =  (B) I

R
E
M =  

(C) I
E

R
M =  (D) E

R
I

M =   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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93. Section modulus of circular Section is 
Ámh ÁiÁ® öPõsh usiß £Sv ©õk»ì (Section modulus) 
___________ BS®. 

(A) 64
3dπ  (B) 36

3dπ  

(C) 32
3dπ  (D) 48

2dπ  

(E) Answer not known 
 Âøh öu�¯ÂÀø»

94. A load acting at a point is known as 
J¸ ¦ÒÎ°À ö\¯À£k® _ø© ���������� GÚ¨£k®. 

(A) Uniformly distributed load  
 ^μõP £μÂ¯ _ø© 

(B) Uniformly varying load  

 ^μõP ©õÖ£k® _ø©   

(C) Point load  
 ¦ÒÎ _ø© 

(D) Zero load  
 §äâ¯ _ø©  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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95. The number of elastic constants of a linear, elastic, Isotropic
material will be 
J¸ ÷|�¯À, «Òußø©, I÷\õm÷μõ¤U ö£õ¸Îß «Ò ©õÔ¼PÎß 
GsoUøP ���������� BP C¸US®. 

(A) 3 (B) 5 

(C) 2 (D) 4 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

96. If equal and opposite forces applied to a body tend to elongate it, the
stress so produced is called  
J¸ ö£õ¸Îß «x £¯ß£kzu¨£k® \©©õÚ ©ØÖ® GvºÂø\PÒ Aøu 
}miUP �øÚ¢uõÀ, AuÚõÀ E¸ÁõS® AÊzu® ���������� GßÖ 
AøÇUP¨£kQÓx. 

(A) Tangential stress (B) Tensile stress 

 öuõk{ø» AÊzu®  CÊÂø\ AÊzu® 

(C) Shearing stress (D) Compressive stress 
 öÁmk AÊzu®  A�UP AÊzu® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



510-Civil Engineering Traditional     
Architecture and Traditional        
Sculpture  
 

56

97. A Body of weight W is placed on an inclined rough plane the
inclination of the plane, with the horizontal is less than the angle of
friction. The Body will 
�W � Gøh öPõsh J¸ ö£õ¸Ò \õ´¢u Pμk�μhõÚ uÍzvÀ 
øÁUP¨£kQÓx. A¢u uÍzvß \õ´Ä Eμõ´Ä ÷Põnzøu ÂhU SøÓÁõP 
EÒÍx. A¢u ö£õ¸Ò  

(A) Be in Equilibrium  
 \©{ø»°À C¸US® 

(B) Move downwards 

 RÌ÷|õUQ |P¸®   

(C) Move upwards 
 ÷©À÷|õUQ |P¸® 

(D) May Move upwards or downwards 
 ÷©À÷|õUQ/RÌ÷|õUQ |P¸® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

98. Dry Friction otherwise called as 
E»º Eμõ´Ä ÷ÁÖÂu©õP ���������� GßÖ® AøÇUP¨£kQÓx. 

(A) Wet Friction  (B) Static Friction 

 Dμ Eμõ´Ä  {ø»¯õÚ Eμõ´Ä 

(C) Dynamic Friction (D) Solid Friction 
 C¯[S® Eμõ´Ä  vh Eμõ´Ä 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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99. A body is consisted of ___________ number of particles.  
J¸ EhÀ ���������� xPÒPÎß GsoUøPø¯U öPõskÒÍx. 

(A) Infinite (B) Finite 

 �iÂÀ»õu  �iÁõÚ 

(C) Hundreds (D) Thousands 
 ¡ØÖUPnUPõÚ  B°μUPnUPõÚ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

100. Which of the following is a vector quantity? 
¤ßÁ¸ÁÚÁØÔÀ Gx J¸ öÁUhº AÍÄ? 

(A) Density (B) Acceleration  
 Ahºzv  �kUP® 

(C) Mass (D) Volume 
 {øÓ  PÚAÍÄ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

101. Thirunavukkarasar mentioned the unique architectural features of
a temple in Tevaram 
÷uÁõμzvÀ uÛzxÁ©õÚ �÷Põ°À PmihUPø» A®\[PøÍ� v¸|õÄUPμ\º 
SÔ¨¤mkÒÍõº. 

(A) Karakkoil (B) Karkoil 

 PμU÷Põ°À  PõºU÷Põ°À 

(C) Chenkoil (D) Kadambarkoil 
 ö\[÷Põ°À  Ph®£º ÷Põ°À  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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102. Out of Paripadal, Seventy songs Eight songs are dedicated to Lord 
GÊ£x £�£õhÀPÐÒ Gmk £õhÀPÒ Aº£oUP¨£mkÒÍ CøÓÁß 

(A) Muruga (B) Tirumal 

 �¸Pß  v¸©õÀ 

(C) Korravai (D) Kali 
 öPõØÓøÁ   PõÎ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

103. During the pratisha of Kali Temple, Kulothunga � I used which kind 
of stone as mentioned in Kalingathu Parani 
PõÎ ÷Põ°À ¤μvmøh°ß ÷£õx, �u»õ® S÷»õzx[Pß £¯ß£kzv¯ 
PØPÒ Gx GßÖ P¼[Pzx£μo°À TÓ¨£kQÓx 

(A) Emerald   
 ©μPuUPÀ  

(B) Marble 
 £Î[SUPÀ 

(C) Gems of defeated enemy�s queens   
 ÷uõØPiUP¨£mh Gv�°Ýøh¯ Aμ]PÎß CμzvÚ[PÒ   

(D) Diamond  
 øÁμ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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104. How I can be able describe about the town that has high towers and
castle that touches the clouds which was that town? 
÷©Pzøu öuõkQßÓ E¯º¢u ©õh[PøÍU öPõsh ©õÎøPPÒ {øÓ¢u 
©õ|Pμzøu Á¸ozxa ö\õÀÁx GßÚõÀ C¯»õx GßÖ TÓ¨£k® |Pμ®
Gx? 

(A) Ayothya (B) Dhuvaraha 

 A÷¯õzv  xÁõμøP 

(C) Rishikesh (D) Ramnagar  
 �æ÷Pè  μõ®|Pº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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105. Assertion [A] : Tevaram Portrays Siva in the company of his
consort and son. 

TØÖ [A]   : ÷uÁõμ® ]Áö£¸©õß uÚx ©øÚÂ ©ØÖ® ©PÝhß
C¸¨£øu ]zu�UQÓx.     

Reason [R]  : The Somaskanda form represents Siva and uma
shown seated in Sukhasana pose with Skanda
between them. 

Põμn® [R]  : ÷\õ©õìP¢u ÁiÁ® ]Áö£¸©õÝ® Eø©¯®ø©²®
_Põ\Ú ÁiÁzvÀ A©º¢x AÁºPÐUQøh÷¯ P¢uøÚU
öPõskÒÍ ÁiÁ©õS®. 

(A) [A] is true but [R] is false  

 [A] Gß£x \�, BÚõÀ [R] Gß£x uÁÖ  

(B) Both [A] and [R] are true but [R] is the correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® \�, BÚõÀ [R] Gß£x [A] ÂØPõÚ \�¯õÚ 
ÂÍUP©õS® 

(C) [A] is false [R] is true 

 [A] Gß£x uÁÖ, [R] Gß£x \� 

(D) Both [A] and [R] are true but [R] is not the correct explanation 
of [A] is correct 

 [A] ©ØÖ® [R] Cμsk® \�, BÚõÀ [R] Gß£x [A] ÂØPõÚ \�¯õÚ 
ÂÍUP©À» Gß£x \� 

(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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106. The term �Kottam� mentioned in the following section of 
Silappathikaram 
�÷Põmh®� GßÓ £u©õÚx ¤ßÁ¸® ]»¨£vPõμ¨ £Sv°À 
SÔUP¨ö£ÖQÓx 

(A) Vettuvavari (B) Pathitrupathu  
 ÷ÁmkÁÁ�  £vØÖ¨£zx 

(C) Paripadal (D) Pattinappalai 
 £�£õhÀ  £miÚ¨£õø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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107. Assertion [A] : The pancaratra texts contains the construction of 
temple, making of the idols and their installations.

TØÖ [A]   : ÷Põ°À Pmk©õÚ®, ]ø» E¸ÁõUP® ©ØÖ® {ÖÄuø»
EÒÍhUQ²ÒÍx £õg\μõzμ®. 

Reason [R]  : These topics are brought under the third division
of the Agama called Kriyapada. 

Põμn® [R]  : C¢u uø»¨¦PÒ BP©zvß �ßÓõÁx ¤�ÁõÚ
Q�¯õ£õuzvÀ C¸¢x ö£Ó¨£mhuõS®. 

(A) [A] is true  

 [A] \�¯õÚx

(B) [A] is true [R] is false 

 [A] \�, [R] uÁÖ 

(C) Both [A] and [R] are false 

 [A] ©ØÖ® [R] Cμsk® uÁÖ 

(D) Both [A] and [R] are true, and [R] is the correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® \� ©ØÖ® [R] Gß£x [A] US \�¯õÚ 
ÂÍUP©õS® 

(E) Answer not known 
  Âøh öu�¯ÂÀø» 

108. Trivikrama sculpture should have  
v¸ÂUμ©º ]Ø£® öPõsi¸¨£x 

(A) eight arms (B) two arms  
 Gmk Pμ[PÒ  Cμsk Pμ[PÒ 

(C) four arms (D) twelve arms 
 |õßS Pμ[PÒ  £ßÛöμsk Pμ[PÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



   510-Civil Engineering Traditional 
  Architecture and Traditional 
  Sculpture 
  [Turn over 

63

109. The Recognized incarnations of Vishnu 
ÂèqÂß A[RP�UP¨£mh AÁuõμ[PÒ 

(A) 6 (Six) (B) 12 (Twelve) 

 6 (BÖ)  12 (£ßÛöμsk) 

(C) 10 (Ten) (D) 24 (Twenty Four) 
 10 (£zx)  24 (C¸£zx |õßS) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

110. Choose the right answers : 
\�¯õÚ Âøhø¯z ÷uº¢öukUP : 

(i) The Vaikanasa Agamas are mainly concerned with worship of 
the Lord in a concrete form.  

 øÁPõÚé BP©[PÒ �UQ¯©õP CøÓÁÝøh¯ ÁÈ£õmk 
EÖv¯õÚ (ìvμ©õÚ) ÁiÁzøu \õº¢xÒÍx 

(ii) The selection of site, building of the temple choosing materials 
were explained in the Vaikanasa Agama. 

 øÁPõÚé BP©©õÚx Chz÷uºÄ, ÷Põ°À Pmk©õÚ® ö£õ¸mPøÍ 
÷uºÄ ö\´uø» ÂÍUSQÓx. 

(iii) The Installation of the Idols and the need to worship were 
explained in the Vaikanasa Agama. 

 øÁPõÚé BP©©õÚx ]ø»PøÍ {ÖÄuÀ ©ØÖ® ÁÈ£õmiß 
÷uøÁø¯ ÂÍUSQÓx. 

(A) (i), (ii) (B) (ii), (iii) 

(C) (i), (ii), (iii) (D) (iii), (i) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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111. Assertion [A] : Salagrama can be used in the place of the idol. 

TØÖ [A]   : ]ø»°À \õÍUQμõ©® £¯ß£kzu¨£k®. 

Reason [R]  : It is a stone circular in shape and is black in
colour. 

Põμn® [R]  : Cx P¸[PÀ, Ámh ÁiÁ©õÚx ©ØÖ® P¸ø©
{Ó�øh¯x. 

(A) [A] is true but [R] is false  

 [A] \� BÚõÀ [R] uÁÖ  

(B) Both [A] and [R] are true  

 [A] ©ØÖ® [R] Cμsk® \� 

(C) Both [A] and [R] are true and [R] is the correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® \�, ©ØÖ® [R] Gß£x [A] US \�¯õÚ 
ÂÍUP® 

(D) [A] is false [R] is true 

 [A] uÁÖ, [R] \� 

(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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112. Choose the right answer : 
\�¯õÚ Âøhø¯z ÷uº¢öukUP : 

(i) The consorts of the Vyuha deities are Lakshmi, Kirti, Jaya and 
Maya. 
Â³P öu´Á[PÎß xønÂPÒ ö»m_ª, Rºzv, öá¯õ ©ØÖ® 
©õø¯. 

(ii) Sri and Bhudevi as two female deities who are consorts of 
Vishnu. 

 ÿ ÷uÂ ©ØÖ® §÷uÂ C¸ ö£s öu´Á[PÐ® ÂèqÂß 
xønÂPÒ. 

(iii) Seven mothers are admitted in the Pancaratra. 
 £g\μõzμzvÀ HÊ ©õuºPÒ HØÖU öPõÒÍ¨£kQßÓÚº. 

(A) (ii) and (iii) (B) (ii) 

 (ii) ©ØÖ® (iii)  (ii) 

(C) (i), (ii) and (iii) (D) (i) 
 (i), (ii) ©ØÖ® (iii)  (i) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

113. _______ refers to one of the twenty eight Siddhantagama. 
C¸£zx Gmk ]zuõ¢u BP©[PÐÒ JßÓõPU SÔUP¨ ö£ÖÁx  

(A) Vimanarchana kalpa (B) Kumaratantra  
 Â©Úõºa\Ú PÀ£®  S©õμ u¢vμ® 

(C) Suprahbedagama (D) Brihatsamhita  
 _¨μ÷£u BP©®  ¨¸Pz \®îøu 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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114. Mudras are mentioned in the following Agama 
¤ßÁ¸® BP©zvÀ �zvøμPÒ SÔUP¨£mi¸US® 

(A) Vaikanasa Agama (B) Suprabheda Agama 

 øÁPõÚé BP©®  _¨μ÷£u BP©® 

(C) Pancaratra Agama (D) Niruthi Agama 
 £õg\μõzμ BP©®  {¸v BP©® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

115. The Four Padas are not included in the following Agamas  
¤ßÁ¸® BP©[PÎÀ GÁØÔÀ |õßS £õu[PÒ Ch® ö£ÓÂÀø» 

(A) Kamika Agama (B) Suprabheda Agama 

 PõªP BP©®  _¨μ÷£u BP©® 

(C) Mrgendra Agama (D) Kirana Agama 
 ª¸÷P¢vμ BP©®  Qμn BP©® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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116. �Agama rupinyai namah� means 
�BP© ¹¤ßø¯ |©í� Gß£uß ö£õ¸Ò 

(A) Siva is the form of universe 
 ¤μ£g\zvß ÁiÁ® ]Áß BÁõº 

(B) Devi is the form of the Agamas  
 BP©zvÝøh¯ ÁiÁ©õP ÷uÂ ÂÍ[SQÓõÒ 

(C) Agama removes karma 
 BP©[PÒ ÂøÚø¯ }USQßÓÚ 

(D) All the above 
 ÷©÷» TÔ¯ AøÚzx® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

117. Temple worship Rituals were elaborated from the period of 
v¸U÷Põ°À ÁÈ£õmk \h[S �øÓPÒ Â�Áøh¢u Põ»UPmh® 

(A) The Pallavas (B) The Cholas 

 £À»ÁºPÒ  ÷\õÇºPÒ 

(C) The Pandyas (D) The Vijayanagaras 
 £õsi¯ºPÒ  Âá¯|Pμ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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118. To understand the temple structure this knowledge is necessary 
v¸U÷Põ°À Aø©¨ø£ ¦�¢xöPõÒÍ C¢u AÔÄ AÁ]¯® BS® 

(A) Vedic (B) Agamic 

 ÷Áu®  BP©® 

(C) Purana (D) Ethikasam 
 ¦μõn®  CvPõ\® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

119. Choose the wrong answer: 
uÁÓõÚ Âøhø¯z ÷uº¢öukUP:  
(i) Agamas are known as Tantras 
 BP©[PÒ u¢vμ[PÒ GßÖ AÔ¯¨£kQßÓÚ 

(ii) Tantra means spreading out of cosmic energy 
 u¢vμ[PÒ Gß£øÁ ¤μ£g\ \Uvø¯ öÁÎ£kzu»õS® 

(iii) The system of tantra avoids that the universal energy 
 u¢vμ �øÓPÒ ¤μ£g\ \Uvø¯z uÂºUQßÓÚ 

(A) (i) only (B) (iii)  only 

 (i) ©mk®  (iii) ©mk® 

(C) (ii) only (D) (i) and (ii) only 
 (ii) ©mk®  (i) ©ØÖ® (ii) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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120. Tirumular mentioned the number of Agamas in his Tirumantra 
v¸�»º ußÝøh¯ v¸©¢vμzvÀ SÔ¨¤mi¸US® BP©[PÎß 
GsoUøP 

(A) 3 (B) 9 

(C) 18 (D) 28 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

121. The thickness of gusset plate is usually designed to be proportional
to 
Cøn¨¦ uPiß ui©ß ö£õxÁõP ____________ US ÂQuõ\õμ©õP 
ÁiÁø©UP¨£mkÒÍx. 

(A) Length of truss member 
 iμì EÖ¨¤Ú�ß }Í® 

(B) Maximum load carried by the connected member 

 CønUP¨£mh EÖ¨¤ÚμõÀ _©UP¨£k® AvP£m\ _ø© 

(C) Span of the truss 
 iöμêß CøhöÁÎ 

(D) Thickness of the connected member 
 CønUP¨£mh EÖ¨¤Ú�ß ui©ß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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122. As per IS 800 : 2007, the design strength due to yielding of the gross
section of tension member is 
IS 800 � 2007 SÔ±miß £i, CÊÂø\ EÖ¨¤ß ö©õzu SÖUS öÁmk 
£μ¨¤ß �»® EshõS® «m] ÁÇ[S® ÁiÁø©¨¦ Á¼ø© Gß£x 

uf  = Ultimate stress 

uf  → CÖv CÊÂø\ AÊzu® 

yf  = Yield stress 

yf  → «m] CÊÂø\ AÊzu® 

gA  = Gross area 

gA  → ö©õzu SÖUS öÁmk £μ¨¦ 

nA  = Net area 

nA  → {Pμ £μ¨¦ 

mor  = Partial safety factor for material 

mor  → £Sv £õxPõ¨¦U Põμo 

dgT  = Design strength due to yielding 

dgT  → ÂøÍÄ Põμn©õP ÁiÁø©¨¦ Á¼ø© 

(A) 
mo

yg
dg r

fA
T =  (B) 

mo

yn
dg r

fA
T

9.0
=  

(C) 
mo

ug
dg r

fA
T =  (D) 

mo

un
dg r

fA
T

9.0=  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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123. Penetration of weld is better in ____________ type of welding. 
öÁÀiß Fk¸ÁÀ ____________ öÁÀi[ ÁøPPÎÀ ]Ó¢ux. 

(A) Shielded Metal Arc Welding (SMAW) 
 PÁ\ E÷»õP BºU öÁÀi[ 

(B) Resistance Spot Welding 

 Gvº¨¦ ¦ÒÎ öÁÀi[ 

(C) Submerged Arc Welding (SAW) 
 �ÌQ¯ BºU öÁÀi[ 

(D) Gas Tungsten Arc Welding (GTAW) 
 h[ìhß Áõ² BºU öÁÀi[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

124. As per IS 800 : 2007 transverse stiffness provided is considered
unstiffened when spacing of stiffness is greater than  

d  = depth of Girder 
ÂøÓ¨£õßPÐUS Cøh÷¯¯õÚ CøhöÁÎ ____________ US AvP©õP 

C¸US®÷£õx, IS 800 : 2007&ß£i, ÁÇ[P¨£mh SÖUSöÁmk 
ÂøÓ¨£õßPÒ ÂøÓ¨£ØÓuõP÷Á P¸u¨£k®. 

d  → uPk PØøÓ (plate girder)&ß BÇ®. 

(A) d  (B) d2  

(C) d3  (D) 2/d

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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125. Permissible Max vertical deflection of gantry girders, using
manually operated crave is 
L →Gantry girder Span width 
øP¯õÀ C¯UP¨£k® Q÷μß ö£õ¸zu¨£mh ÷Pßm� Pºh�ß 
AÝ©vUP¨£mh AvP£m\ ö\[Szx ÁøÍÄ  

L → ÷Pßm� Pºh�ß PhzuÀ AP»® 

(A) L/1000 (B) L/100 

(C) L/500 (D) L/750 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

126. As per IS 805 � 1995, a minimum thickness of the steel section to
account for corrosion of roof plates over 9.0 m diameter tank is  
IS 805 � 1995ß £i, A�¨ø£U PnUQÀ öPõsk PnUQh¨£k® 9 « I 
Âh AvP Âmh® öPõsh GLS öuõmi°À Aø©UP¨£k® Tøμ uPmiß 
SøÓ¢u£m\ ui©ß 

(A) 5 mm (B) 3 mm 

 5 ª«  3 ª« 

(C) 10 mm (D) 8 mm 
 10 ª«  8 ª« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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127. The function of longitudinal reinforcement in a column are  
J¸ yoß }Í©õÚ Á¾Åmh¼ß ö\¯À£õk 

(A) To resist tensile stresses caused in column due to eccentric 
load, moment (or) transverse load  
¤ÓÌ ø©¯¨ £Ð, v¸¨¦zvÓß AÀ»x SÖUS _ø© Põμn©õP 
yoÀ HØ£k® CÊÂø\ AÊzu[PøÍ GvºUP 

(B) To prevent longitudinal buckling of longitudinal reinforcement 
 }Í©õÚ Á¾Åmh¼ß }Í©õÚ ÁøÍøÁz ukUP 

(C) To hold longitudinal reinforcement in position at the force of 
concreting 

 PõßQ�m ÷£õk® ÷|μzvÀ }Í©õÚ Á¾Åmhø» {ø»{ÖzxÁuØS 

(D) To resist diagonal tension 
 �ø»Âmh CÊÂø\ø¯ GvºUP 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

128. The ratio of effective length of the column to its least lateral
dimension is not less than 12, it is termed as 
yoß £¯ÝÒÍ }ÍzvØS® Auß SøÓ¢u£m\ £UPÁõmk 

£�©õn[PÐUS® EÒÍ ÂQu® 12US® SøÓ¯õ©À C¸US®£m\zvÀ Cx 
____________ GÚ AøÇUP¨£kQÓx. 

(A) Long column (B) Short column 

 }sh ys  SÖQ¯ ys 

(C) Medium column (D) Effective column 
 |kzuμ ys  £¯ÝÒÍ ys 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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129. The effective length of column, which is effectively held in position
at both ends and restrained against rotation at one end.  

l  - length of column 
J¸ �øÚ°À _ÇØ]US GvμõP {ø» {Özu¨£mk, vÓø©¯õP 
C¸�øÚPÎ¾® Pmk¨£kzu¨£k® yoß £¯ÝÒÍ }Í® 

l  = yoß Esø©¯õÚ }Í® 

(A) 1.0 l  (B) 0.5 l  

(C) 0.7 l  (D) 2.0 l  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

130. As per IS 456 : 2000, the minimum number of longitudinal bars to 
be used in circular column is 
IS 456 : 2000 Cß£i, Ámh ÁiÁz ysPÎÀ £¯ß£kzu ÷Ási¯ 
SøÓ¢u£m\ }ÍÁõUSU P®¤PÎß GsoUøP 

(A) 4 (B) 6 

(C) 8 (D) 3 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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131. If ratio of effective length to least lateral dimension of column is less 
than 12, then it should be designed as 
yoß £¯ÝÒÍ }ÍzvØS® SøÓ¢u£m\ £UPÁõmk £�©õnzvØS® 

Cøh°»õÚ ÂQu® 12&I ÂhU SøÓÁõP C¸¢uõÀ, Ax ____________ GÚ 
ÁiÁø©UP¨£h ÷Ásk®. 

(A) Long column (B) Short column 

 }sh ys  SÖQ¯ ys 

(C) Medium column (D) Steel column 
 |kzuμ ys  GLS ys 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

132. The total settlement of a footing in a clay is __________. 
PÎ©s £køP°À {ÖÁ¨£mh AizuÍzvß ö©õzu uõÌa] Gß£x  

S = Total settlement 
S = ö©õzu uõÌa] 

Si = immediate elastic settlement 
Si = EhÚi «m] uõÌa] 

SC = consolidation settlement 
SC = �ußø© _¸[PÀ 

SS = Secondary consolidation  
SS = Cμshõ® {ø» _¸[PÀ 

(A) Ci SSS +=  (B) SCi SSSS ++=  

(C) ( ) 2SSS Ci +=  (D) ( ) 2SSSS SCi ++=  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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133. As per IS 1343-2012, High strength prestressed concrete grade
starts from grade  
IS 1343-2012 Cß £i, AvP Á¼ø© öPõsh �ß AÊzu¨£mh PõßQ�m 
uμ® __________ uμzv¼¸¢x öuõh[SQÓx. 

(A) M � 20 (B) M � 25 

(C) M � 30 (D) M � 35 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

134. Uniformly distributed load on a concrete beam can be effectively
counter balanced by selecting 
J¸ PõßQ�m PØøÓ°À ^μõP HØÓ¨£mh _ø©ø¯ __________ Gß£øu 
÷uº¢öuk¨£uß �»® vÓ®£h Gvº \©{ø»¨£kzu»õ®. 

(A) Concentric cable  

 Põßö\ßm�U ÷P¤Ò   

(B) Eccentric cable  
 GUö\ßm�U ÷P¤Ò 

(C) Parabolic cable  
 £μ÷£õ¼U ÷P¤Ò   

(D) Linearly varying profile with zero eccentricity and centre of 
beam  

 ¥ªß ø©¯zvÀ (e = 0) ©ØÖ® C¸¦Ó �iÄPÎÀ AvP©õS® 

ÁøP°À, cable Á�ø\ ÷|º÷PõmhõP ©õÖ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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135. As per IS 456 : 2000, permissible shear stress ( )Cτ  in M25 grade 
concrete beams with tensile reinforcement above 3.0% (No shear
reinforcement) is 
IS 456 : 2000, Cß£i, 3 \uÂuzvØS ÷©À CÊÂø\ Á¾Åmh¾hß M25 
uμ PõßQ�miÀ AÝ©vUP¨£mh öÁmk AÊzu® ( )Cτ  (æ¯º Á¾ÅmhÀ 

CÀø») = __________ 

(A) 0.57 N/mm2 (B) 0.51 N/mm2 

 0.57 {/ª«2  0.51 {/ª«2 

(C) 0.60 N/mm2 (D) 0.44 N/mm2 
 0.60 {/ª«2  0.44 {/ª«2 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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136. As per IS 456 : 2000, for bars in compression, development length
dL  is given by =dL  __________. 

IS 456 : 2000 Cß £i, AÊzu £Sv°À EÒÍ P®¤PÐUS, ÁÍºa] }Í® 

dL  __________ BÀ ÁÇ[P¨£kQÓx. 

=φ nominal diameter of bar 
=φ  P®¤°ß ö£¯μÍÄ Âmh® 

=sσ stress in bar at design load 
=sσ ÁiÁø©¨¦ _ø©°À P®¤°ß EÒÍ AÊzu® 

=bdτ  design bond stress 

=bdτ  ÁiÁø©¨¦ ¤øn¨¦ AÊzu® 

=scσ  compressive stress in the bars at design load 
=scσ  ÁiÁø©¨¦ _ø©°À, P®¤°À EÒÍ _¸UP AÊzu® 

(A) 
bd

s

τ
φσ
4

 (B) bds τφσ 5  

(C) bdsc τφσ 5  (D) bdsc τφσ 4  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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137. When actual reinforcement is more than theoretically required, so 
that actual stress )( sσ of steel less than full resistance, the
development length may be reduced by the relation.   
G¨÷£õuõÁx {Pμ C¸®¦P®¤PÒ (Actual reinforcement) PnURmkU 

P®¤PøÍ  (Theoretical requirement) Âh AvP©õP C¸US©õÚõÀ 
A¨÷£õx ìj¼À HØ£k® {Pμ AÊzu® )( sσ �Ê Gvº¨¦US SøÓÁõP 

C¸US®, CuÚõÀ ¤ønUS® }Í® (Development length)
SøÓUP¨£h»õ®. 

Development length is per IS 456 : 2000 

IS 456 : 2000 £i ¤ønUS® }Í® 
Reduced development length = ____________
SøÓUP¨£k® ¤øn¨¦ }Í® : ____________ 

=dL  development length 
=dL  ¤ønUS® }Í® 

drL  = Reduced development length 

drL  = SøÓUP¨£k® ¤ønUS® }Í® 

(A) 






=
ProvidedA
requiredA

st

st
ddr LL   

 dr LLd =    ÷uøÁ¯õÚ GLS £μ¨£ÍÄ  
ÁÇ[P¨£mh GLS £μ¨£ÍÄ 

 

(B) 






=
requiredA
ProvidedA

st

st
ddr LL  

 dr LLd =      ÁÇ[P¨£mh GLS £μ¨£ÍÄ  
                    ÷uøÁ¯õÚ GLS £μ¨£ÍÄ 

    
(C) requiredAstprovidedAst ××= ddr LL   
 drd LL = × ÁÇ[P¨£mh GLS £μ¨£ÍÄ × ÷uøÁ¯õÚ GLS 
 £μ¨£ÍÄ   

(D) 
d

dr L
L

Required)(Ast=  

 =drL  ÷uøÁ¯õÚ GLS £μ¨£ÍÄ / dL  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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138. The  economical depth of T-beam is 
T- ¥ªß ö\»Ä ]UPÚ BÇ®  

 d =  economical depth  
d = ö\»Ä ]UPÚ BÇ® 

 r = cost ratio  
r = ö\»Ä ÂQu® 

 M  = bending moment  
M  = v¸¨¦vÓß ÁøÍÄ 

 stσ  = permissible stress insteel  

stσ  = ìjÀ «x AÝ©vUP¨£k® AÊzu® 

 j = lever arm  
 j = ½ÁºBº® 

 wb = width of web  
  wb = öÁ¨¤ß AP»® 

(A) 
wst bj

Mr
d

;
.

σ
=  (B) 

wst bj
Mr

d
;
.

σ
=  

(C) 
wst bj

M
d

σ
=  (D) 

wst bj
M

d
;σ

=  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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139. As per IS 456:2000 minimum mild steel reinforcement in either
direction in slabs shall not be less than ___________ of the total cross 
sectional area. 
IS 456:2000 Cß£i, uÍzuPkPÎß C¸ vø\PÎ¾® SøÓ¢u£m\ ÷»\õÚ 
GLS Á¾ÅmhÀ ö©õzu ¤�Ä £μ¨£ÍÂÀ ___________ I Âh SøÓÁõP 
C¸UPUThõx. 

(A) 0.12 % (B) 0.15 %  

(C) 0.10 % (D) 0.08 % 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 

140. The permissible direct tensile stress for M15 grade concrete shall
not be greater than  
M15 uμ PõßQ�miØS AÝ©vUP¨£mh ÷|μi CÊÂø\ AÊzu® 
___________ I ªPU Thõx 

(A) 3.6 N/mm2 (B) 3.2 N/mm2 

 3.6 {/ª«
2
  3.2 {/ª«

2 

(C) 2.8 N/mm2 (D) 2.0 N/mm2 
 2.8 {/ª«

2
  2.0 {/ª«

2 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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141. What is the range land fill site located from an Airport or airbase
does not require any approval from airport or airbase authorities 
under municipal solid waste rules 2000?  
|Pμõm] vhUPÈÄ ÂvPÒ, 2000 Cß RÌ, Â©õÚ {ø»¯® AÀ»x Â©õÚ 
uÍzv¼¸¢x Aø©¢xÒÍ S¨ø£ {μ¨¦® uÍzvß G¢u GÀø»US Â©õÚ 
{ø»¯® AÀ»x Â©õÚ uÍ AvPõ�PÎhª¸¢x G¢u J¨¦u¾® 
÷uøÁ°Àø»? 

(A) Beyond 20 km (B) Beyond 30 km 

 20 Q.« US A¨£õÀ  30 Q.« US A¨£õÀ 

(C) Beyond 25 km (D) Beyond 50 km 
 25 Q.« US A¨£õÀ  50 Q.« US A¨£õÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

142. Acceptable noise levels (dBA) for hospital (ward) is as per WHO is 
E»P _Põuõμ Aø©¨¤ß£i ©¸zxÁ©øÚ (Áõºk)UPõÚ HØÖU 
öPõÒÍUTi¯ Cøμa\À AÍÄPÒ ___________ BS®. 

(A) 20-35 (dBA) (B) 30-40 (dBA)  

(C) 35-45 (dBA) (D) 40-60 (dBA) 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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143. Total volume of wastewater generated per litre of alcohol produced
is in the range of any one of the following is 
J¸ ¼mhº ©x EØ£zv ö\´²® ÷£õx EØ£zv ö\´¯¨£k® PÈÄ }�ß 
�Ê AÍÄ ö£õxÁõP ____________ ¼mhºPÐUSÒ C¸US® 

(A) 50-70 litres (B) 150-180 litres 

 50-70 ¼mhº  150-180 ¼mhº 

(C) 60-100 litres (D) None of the above 
 60 �uÀ 100 ¼mhºPÒ  ÷©À EÒÍ AøÚzx® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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144. Considering the following statements the approximate analysis of
waste water from a typical pulp and paper mill ; 
¤ßÁ¸® AÔUøPPøÍ PÁÛ²[PÒ J¸ ö£õxÁõÚ TÌ ©ØÖ® PõQu 
Bø»°¼¸¢x öÁÎ÷¯Ö® PÈÄ}�ß ÷uõμõ¯©õÚ £S¨£õ´Ä 

(1) pH value : 8.0 -9.0  
pH ©v¨¦ = 8.0 -9.0 

(2) Total solids : 1500 - 2500 mg/l  
ö©õzu vh¨ö£õ¸Ò = 1500�2500 ª.Qμõ®/¼mhº 

(3) Suspended solids : 1600-15,000 mg/l  
ªuUS® vh¨ö£õ¸Ò = 1600�15,000 ª.Qμõ®/¼mhº 

(4) COD : 3,000 to 25,000 mg/l.  
Cμ\õ¯Ú BU]áß ÷uøÁ COD = 3,000�25,000 ª.Qμõ®/¼mhº  

Which of the above statements are correct? 
÷©ØPsh TØÖPÎÀ GøÁ \�¯õÚx? 

(A) (1) and (2) (B) (1) and (3) 

 (1) ©ØÖ® (2)  (1) ©ØÖ® (3) 

(C) (1) and (4) (D) (2) and (4) 
 (1) ©ØÖ® (4)  (2) ©ØÖ® (4) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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145. The most favourable initial C/N ratio for rapid composting and 
provide necessary nitrogen in available form in the finished compost
is 
ÂøμÁõÚ Eμ©õUP¾US ªPÄ® \õuP©õÚ Bμ®£ C/N ÂQu® ©ØÖ® 
�iÁøh¢u EμzvÀ QøhUPUTi¯ ÷uøÁ¯õÚ ø|mμáß ÁÇ[SÁuØS 
___________ ÷uøÁ¨£k®. 

(A) 10 (B) 30  

(C) 20 (D) 25  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

146. An average sewage contains about ___________ percent pure water. 
J¸ \μõ\� PÈÄ}�À ___________ \uÃu® _zu©õÚ }º EÒÍx. 

(A) 90.0 (B) 85.0 

(C) 99.9 (D) 80.0 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 

147. The stone ware pipe sewer should safely stand upto a hydraulic 
pressure of ___________ 
ì÷hõß÷Áº ÁøP ÁiPõÀ SÇõ´PÒ ___________ Áøμ EÒÍ øímμõ¼U 
AÊzuzøu £õxPõ¨£õP uõ[P �i²®.

(A) 1.4 kg/cm2 (B) 14 kg/cm2 

 1.4 Q÷»õ/ö\.«
2
  14 Q÷»õ/ö\.«

2

(C) 0.14 kg/cm2 (D) 144 kg/cm2 
 0.14 Q÷»õ/ö\.«

2
  144 Q÷»õ/ö\.«

2 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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148. While the per capita consumption for water supply is kept at a
minimum of 135 litres per capita per day (lped), the sewers should
be designed for a maximum flow of  
J¸ |£¸UPõÚ SøÓ¢u£m\ uspº ÁÇ[PÀ 135 ¼mhºPÒ GßÖ 
{ºn°UP¨£mi¸¢uõ¾® ÁiPõÀ SÇõ´PÒ ___________ AvP£m\
KmhzvØPõP ÁiÁø©UP¨£h ÷Ásk® 

(A) 100 lped  
 J¸ |£¸US J¸ |õÎÀ 100 ¼mhº ÁÇ[PÀ  

(B) 110 lped 

 J¸ |£¸US J¸ |õÎÀ 110 ¼mhº ÁÇ[PÀ   

(C) 90 lped  
 J¸ |£¸US J¸ |õÎÀ 90 ¼mhº ÁÇ[PÀ  

(D) 150 lped 
 J¸ |£¸US J¸ |õÎÀ 150 ¼mhº ÁÇ[PÀ   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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149. For a town with a population over 2,00,000 or where buildings of
three or more storeys are common, the minimum residual pressure
head should be 
2,00,000 US® ÷©Ø£mh ©UPÒ öuõøP öPõsh |PμzvÀ AÀ»x �ßÖ 
AÀ»x AuØS ÷©Ø£mh ©õiPøÍ öPõsh Pmih[PÒ ö£õxÁõP 
Põn¨£k® ChzvÀ SøÓ¢u£m\ «u�ÒÍ AÊzuz uø» ___________ BP 
C¸UP ÷Ásk®. 

(A) 15 m above the ground level  
 uøμ ©mhzv¼¸¢x 15 « E¯μ®  

(B) 10.5 m above the ground level 

 uøμ ©mhzv¼¸¢x 10.5 « E¯μ®   

(C) 6.5 m above the ground level  
 uøμ ©mhzv¼¸¢x 6.5 « E¯μ® 

(D) 1.5 m above the ground level 
 uøμ ©mhzv¼¸¢x 1.5 « E¯μ®   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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150. Considering the following statements : 
¤ßÁ¸® AÔUøPPøÍ PÁÛ²[PÒ 

A lamp hole is usually of small openings on lines of Sewer to   
PÈÄ}º SÇõ´PÎÀ ö£õxÁõP J¸ ÂÍUSz xøÍ ]Ô¯ vÓ¨ø£U
öPõsi¸US® 

(1) permit the insertion of a lamp into the Sewer 
 PÈÄ}º SÇõ°À ÂÍUøP ö\¸P AÝ©vUPÄ®. 

(2) detect any obstructions inside the Sewer 
 PÈÄ}º SÇõ°À H÷uÝ® Aøh¨ø£ PshÔ¯Ä®. 

(3) stop the insertion of a lamp into the Sewer 
 PÈÄ}º SÇõ°À ÂÍUøP ö\¸P AÝ©v Qøh¯õx. 

(4) stop the detection of obstructions inside the Sewer 
 PÈÄ}º SÇõ°À H÷uÝ® Aøh¨¦ PshÔÁøu {ÖzuÄ®. 

Which of the above statements are correct? 
÷©ØPsh TØÖPÎÀ Gx \�¯õÚx? 

(A) (1) and (2) (B) (2) and (3) 

 (1) ©ØÖ® (2)  (2) ©ØÖ® (3) 

(C) (3) and (4) (D) (1) and (4) 
 (3) ©ØÖ® (4)  (1) ©ØÖ® (4) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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151. Consider the following statements, It is evident from the 
Time-Intensity Frequency curves, the intensity of rainfall is 
¤ßÁ¸® TØÖPøÍU PÁÛ²[PÒ ÷|μ&wÂμ AvºöÁs ÁøÍÄPÎ¼¸¢x 

(TIF curves)  ©øÇ°ß wÂμ® Gß£x  

(A) Proportional to the duration of rainfall  
 ©øÇUPõ»zvØS ÂQuõ\õμ©õS®   

(B) Equal to the duration of rainfall 
 ©øÇUPõ»zvØS \©® 

(C) Inversely proportional to the duration of rainfall  
 ©øÇUPõ»zvØS ÷|º©õÓõÚ ÂQuõ\õμ©õS®   

(D) Greater for longer duration 
 }sh Põ»zvØS AvP©õP C¸US® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

152. Let, V = Velocity of flow at the outlet of pipe. 
Head loss at outlet of pipe � 0h � is calculated from any one of the 
following equation 

V = SÇõ°ß öÁÎ÷¯ØÓzvÀ Kmhzvß ÷ÁP® GßÖ øÁzxUöPõÒ÷Áõ®.
SÇõ°ß öÁÎ÷¯ØÓzvÀ uø» CÇ¨¦ ¤ßÁ¸® \©ß£õkPÎÀ H÷uÝ® 
JßÔ¼¸¢x PnUQh¨£kQÓx. 

(A) 
V
g

h
2

0 =  (B) 
20

2
V

g
h =  

(C) gVh 22
0 ×=  (D) 

g
V

h
2

2

0 =  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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153. In fresh water which has a density of 1000 kg/m3, the pressure at a 
depth of 10 m is  
¦v¯ }�À (1000 kg/m3 Ahºzv öPõshx) 10 «mhº BÇzvÀ AÊzu® 

����������� BS®. 

(A) 9.81 kN/m3 (B) 9.81 kN/m2 

 9.81 Q.{³mhß/«
3
  9.81 Q.{³mhß/«

2 

(C) 98.1 kN/m3 (D) 98.1 kN/m2 
 98.1 Q.{³mhß/«

3
  98.1 Q.{³mhß/«

2 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

154. The process, thereby the Earth's water balance is maintained
between precipitation and evaporation continue for ever, known as 
©øÇ¨ö£õÈÄUS®, BÂ¯õu¾US® Cøh°À §ª°ß }º \©{ø» 
GßöÓßÖ® £μõ©�UP¨£k® ö\¯À�øÓ ����������� GÚ 
AøÇUP¨£kQÓx. 

(A) Water Cycle (B) Precipitation Cycle 

 }º _ÇØ]  ©øÇ¨ö£õÈÄ _ÇØ] 

(C) Hydrological Cycle (D) Evaporation Cycle 
 }�¯À _ÇØ]  BÂ¯õuÀ _ÇØ] 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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155. Hardness of water is ____________ present in water. 
}�ß PiÚzußø©, }�À ____________ EÒÍx 

(A) Alkalinity (B) Acidity 

 Põμzußø©  Aª»zußø© 

(C) Chloride (D) Fluride 
 S÷Íõøμk  L¦Ðøμk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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156. Considering Indian Standard Drinking Water specification (IS -
10500 : 1991); Match List - I (Characteristics) with List - II 
(Permissible limits) and select the correct answer using the codes
given below the lists : 
C¢v¯ uμ{ø» Si}º ÂÁμUSÔ¨¦ (IS - 10500 : 1991) P¸zvÀ öPõsk 

£mi¯À � I, £mi¯À � II (AÝ©vUP¨£mh Áμ®¦PÒ) Ehß ö£õ¸zv R÷Ç
öPõkUP¨£mkÒÍ SÔ±kPøÍ¨ £¯ß£kzv \�¯õÚ £vø» 
÷uº¢öukUPÄ®. 
 List I    List II  

£mi¯À I   £mi¯À II 
 (Characteristics)    (Permissible limits) 
 (£s¦PÒ)    (AÝ©vUP¨£mh Áμ®¦PÒ) 
(a) Colour (Hazen)   1. 10 
 {Ó® (÷í\ß)    10 
(b) Turbidity (NTu)   2. 25  
 P»[PÀ ußø© (NTu)   25 
(c) Chlorides (mg/l)   3. 600  
 S÷ÍõøμkPÒ (mg/l)    600 
(d) Total Hardness (mg/l)  4. 1000  
 ö©õzu PiÚzußø© (mg/l)  1000 

 (a) (b) (c) (d) 
(A) 1 2 3 4    
(B) 2 1 4 3     
(C) 3 4 1 2    
(D) 4 1 2 3 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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157. Specific speed �Ns� for pumps is determined from any one of the
following equation is 
£®¤ß ìö£]¤U ì¥k )( sN , ¤ßÁ¸® \©ß£õkPÎÀ H÷uÝ® 
JßÔ¼¸¢x wº©õÛUP¨£kQÓx. 

(A) 
4/3

2/1

Hp

NQ
Ns =  (B) 

Hp
N

Ns =  

(C) 
Hp
NQ

Ns =  (D) 
NQ
Hp

Ns =  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

158. Let, the water containing uniformly distributed sediment enters into
a horizontally flowing rectangular tank with a uniform velocity �V�. 
If Q is the discharge entering the basin, the flow velocity 'V' is given 
as;  
^μõP £μÂ²ÒÍ ÁshÀ £iÄPøÍU öPõsh }º ^μõÚ ÷ÁP® �V� Ehß 

Qøh©mh©õP £õ²® ö\ÆÁPz öuõmi°À ~øÇ¯mk®, Q Gß£x 

÷£]ÝUSÒ ~øÇ²® öÁÎ÷¯ØÓ® GßÓõÀ Kmh ÷ÁP® �V� �����������
BP ÁÇ[P¨£kQÓx. 

(A) HBQV ××=  (B) 
HB

Q
V

⋅
=  

(C) QHBV /⋅=  (D) 
H

BQ
V

×=  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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159. Run-off is the water which flows 
Kk® }º Gß£x ����������� £õ²® }º BS®. 

(A) In streams (B) In sewer pipes 

 KøhPÎÀ  \õUPøh SÇõ´PÎÀ 

(C) In infiltration galleries (D) Due to leakage of pipes 
 uÛzx ÷\P�US® Aø©¨¤À  SÇõ´PÎÀ P]Ä Põμn©õP 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

160. The bio - chemical treatment of sewage effluent is a process of 
PÈÄ}º PÈÄ}�ß E°º÷Áv°¯À _zvP�¨¦ Gß£x 

(A) Deoxidation (B) Oxidation 

 BUêá÷ÚØÓ® }UP®  BUêá÷ÚØÓ® 

(C) Sedimentation (D) Self-purification 
 ÁshÀ }UP®  _¯ _zvP�¨¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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161. Which of the following is not an assumption in plastic theory? 
¤ßÁ¸ÁÚÁØÔÀ Gx ¤ÍõìiU ÷Põm£õmiÀ EÒÍ AÝ©õÚ® AÀ»? 

(A) Material is homogeneous and Isotropic  
 ö£õ¸Ò J÷μ ©õv�¯õÚx ©ØÖ® I÷\õm÷μõ¤U BS® 

(B) Strain hardening is considered 

 v�¦ PiÚ¨£kzxuÀ P¸u¨£kQÓx   

(C) Plane sections remain plane  
 umøh¯õÚ ¤�ÄPÒ umøh¯õP÷Á C¸US® 

(D) Shear deformations are negligible 
öÁmk ]øuÄPÒ ¦ÓUPoUPuUPøÁ

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

162. The shape factor of a circular section of 0.1 m diameter is 
0.1 « Âmh® öPõsh Ámhzvß ÁiÁ Põμo GßÚ? 

(A) 1.5 (B) 1.7 

(C) 2.3 (D) 5.8 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



510-Civil Engineering Traditional     
Architecture and Traditional        
Sculpture  
 

96

163. What is the expression to determine factor of safety due to sliding
failure for retaining walls? 
uk¨¦a _ÁºPÐUPõÚ \ÖUSuÀ ÷uõÀÂ Põμn©õP £õxPõ¨¦ Põμoø¯ 
wº©õÛUS® öÁÎ¨£õk GßÚ? 

(A) 
H

Wμ2
 (B) 

H
Wμ4  

(C) 
H

Wμ
 (D) 

H
Wμ5

 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

164. Surcharge loads on the backfill of a retaining wall is? 
J¸ uk¨¦a _Á�ß ¤ß {μ¨¦u¼À TkuÀ _ø©¯õÚx? 

(A) Decrease lateral earth pressure  
 £UPÁõmk ©s AÊzuzøuU SøÓUS® 

(B) Increase lateral earth pressure 
 £UPÁõmk ©s AÊzuzøu AvP�US® 

(C) Have no effect on lateral earth pressure 
 £UPÁõmk ©s AÊzuzvÀ G¢u ÂøÍøÁ²® HØ£kzuõx 

(D) Only affect overturning stability 
 PÂÌ¨¦ {ø»zußø©ø¯ ©mk÷© £õvUS® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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165. The active earth pressure co-efficient (Ka) is typically? 
ö\¯¼À EÒÍ ©s AÊzu SnP® (Ka) ö£õxÁõP 

(A) Greater than the passive earth pressure co-efficient  
 ö\¯»ØÓ ©s AÊzu SnPzøu Âh AvP©õP EÒÍx. 

(B) Less than the passive earth pressure co-efficient 

 ö\¯»ØÓ ©s AÊzu SnPzøu ÂhU SøÓÄ 

(C) Equal to the passive earth pressure co-efficient  
 ö\¯»ØÓ ©s AÊzu SnPzvØS \©® 

(D) Not related to the passive earth pressure co-efficient 
 ö\¯»ØÓ ©s AÊzu SnPzxhß öuõhº¦øh¯x AÀ» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

166. The pressure exerted by the retained earth on the retaining wall is 
called as 
uUP øÁUP¨£mh ©snõÀ uk¨¦a _Á�ß «x ö\¾zu¨£k® AÊzu® 
GÆÁõÖ AøÇUP¨£kQÓx? 

(A) Passive earth pressure (B) Active earth presure 

 ö\¯»ØÓ {» AÊzu®  ö\¯¼À EÒÍ {» AÊzu® 

(C) Lateral water pressure (D) Static water pressure 
 £UPÁõmk }º AÊzu®  {ø»¯õÚ }º AÊzu® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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167. For drawing ILD, what value of test load is assumed? 
ILD ÁøμÁuØS, ÷\õuøÚ _ø©°ß ©v¨¦ GßÚÁõP P¸u¨£kQÓx? 

(A) 1 unit (B) 2 units 

 1 A»S  2 A»SPÒ 

(C) 0 units (D) Arbitrary 
 0 A»S  ußÛaø\¯õÚx 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

168. The ratio of crippling loads of a column having both ends fixed to the
column having both ends hinged is? 
J¸ ys, C¸ �øÚPÐ® {ø»zv¸US® (fixed ends) GßÓ {ø»°À 

C¸US® ÷£õx Auß �hUP _ø©, C¸ �øÚPÐ® îga (hinged ends) 
GßÓ {ø»°À C¸US® yoß �hUP _ø©US ÂQu® ����������� BP 
C¸US®. 

(A) 1 (B) 2 

(C) 3 (D) 4 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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169. If the column is fixed at one end and hinged at other end, the
relation between equivalent length ( )el  and actual length ( )l as per 
Euler�s formula is 
J¸ ys J¸ �øÚ {ø»¯õPÄ® ©Ö�øÚ îg\õP C¸¢uõÀ, ³»�ß 
`zvμzvß £i £¯ÝÒÍ }Í® ( )el  ©ØÖ® Esø©¯õÚ }Í® ( )l
BQ¯ÁØÖUS Cøh¯õÚ öuõhº¦ GßÚ?  

(A) lle =  (B) lle 2=  

(C) 2/lle =  (D) 2/lle =  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

170. The crippling load for a column with one end fixed and the other end
hinged is 
J¸ �øÚ Pmk£kzu¨£mk ©Ö�øÚ îga øÁUP¨£mi¸US® J¸ 
yoß �hUS _ø© GßÚ? 

(A) 
2

2

l

EI
P

π=  (B) 
2

2

4l

EI
P

π=  

(C) 
2

24

l

EI
P

π=  (D) 
2

22

l

EI
P

π=  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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171. Consider the following statements with respect to the temperature
effect on a load carrying, three hinged arch. 
_ø© _©¢x ö\À¾®, �ßÖ îga öPõsh ÁøÍÂÀ öÁ¨£{ø» ÂøÍÄ 
SÔzx ¤ßÁ¸® TØÖPÎÀ Gx/GøÁ \�¯õÚøÁ? 

(1) There is a decrease in horizontal thrust due to rise in 
temperature 

 öÁ¨£{ø» AvP�¨£õÀ Qøh©mh E¢xÂø\ SøÓQÓx 

(2) There is an increase in horizontal thrust due to rise in 
temperature 

 öÁ¨£{ø» AvP�¨£õÀ Qøh©mh E¢xÂø\ AvP�UQÓx 

(3) Shear stresses are produced in the arch due to rise in 
temperature 

 öÁmk Âø\PÒ öÁ¨£{ø» AvP�¨£õÀ HØ£kQÓx 

Which of the above statements is/are correct? 

(A) (1) and (2) only (B) (1) only 

 (1) ©ØÖ® (2) ©mk®  (1) ©mk® 

(C) (2) only (D) (3) only 
 (2) ©mk®  (3) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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172. A suspension cable, having supports at the same level, has a span of
30 m and dip of 3 m. It carries udl of 10 kN/m throughout the span.
Find the horizontal pull in the cable. 
J¸ ÷P¤Îß }Í® 30 «, Auß i¨&3 «, ÷P¤Ò �ÊÁx® £μÁ»õUP¨£mh 

_ø© 10 kN/m ö\¯À£kQÓx GÛÀ Auß Qøh©mh CÊ¨¤ß ©v¨¦ 
GßÚ? 

(A) 575 kN (B) 475 kN 

(C) 375 kN (D) 275 kN 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

173. The equation for radial shear ( )F  in three hinged arch is 
�ßÖ RÀ ÁøÍÂÀ EÒÍ ÷μi¯À æ¯º ( )F  \©ß£õk 

(A) θcosHsinθHF 222 −=  (B) θθ sincos HVF −=  

(C) θθ cossin HVF +=  (D) θθ 22 cossin HF +=  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

174. Top most part of an arch is called 
J¸ ÁøÍÂß ÷©À £Sv GÆÁõÖ AøÇUP¨£kQÓx? 

(A) Sofit (B) Abutment 

 \õ¤m  A¦mö©ßm 

(C) Center (D) Crown 
 ø©¯®  Q�h® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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175. The principle of contragradience in flexibility matrix method is 
ö|QÌÄz ußø© Ao �øÓ°À �μs£õmiß öPõÒøP Gß£x 

(A) αKu =  and 2

2
1

Km=δ  (B) αsin=u  and uT T=δ

(C) αsin=u  and 0=δ  (D) δTu =  and uT T=δ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

176. Flexibility matrix is always 
ö|QÌÄz ußø© Ao G¨÷£õx® 

(A) Symmetric 
 \©a^μõÚx  

(B) Non-symmetric 

 \©a^μØÓx 

(C) Anti-symmetric 
 Gvº¨¦&\©a^μõÚx  

(D) Depends upon loads applied 
 ö\¯À£k® _ø©ø¯¨ ö£õÖzux 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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177. The slope deflection equations are used in 
\õ´Ä Â»PÀ �øÓ°ß \©ß£õkPÒ GÁØÔÀ £¯ß£kQÓx? 

(A) Continuous beams, simple frames  
 öuõhºa]¯õÚ Ezvμ®, GÎ¯ \mhP® 

(B) Cantilever beam, simply supported beam 

 ÷Psj¼Áº Ezvμ®, C»S uõ[QPÒ Ezvμ® 

(C) Continuous beam, simple frames, portal frames  
 öuõhºa]¯õÚ Ezvμ®, GÎ¯ \mhP®, ÷£õºhÀ \mhP® 

(D) Portal frames only 
÷£õºhÀ \mhP® ©mk®

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

178. Carryover moment at end �B � due to moment �M � applied at the end 
�A � for the propped cantilever beam is, when A  is free end and B is 
fixed end? 
J¸ xøn BuμÄÒÍ Põßi½Áº Ezvμzvß A �øÚ¯õÚx BuμÁØÓ 
�øÚ¯õPÄ® B  �øÚ¯õÚx BuμÄÒÍ CÖUP©õÚ �øÚ¯õPÄ® 

öPõsk, �øÚ A &À �M � GßÓ ö©õ©søh ö\¯À£kzvÚõÀ B &À 
QøhUS® uõ[QöPõsk ö\À¾® ö©õ©siß ©v¨¦ GßÚ? 

(A) M+  (B) M2−  

(C) 2/M+  (D) 3/M+  

(E) Answer not known 
 Âøh öu�¯ÂÀø»
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179. A fixed beam AB  carrying a uniformly distributed load ( )w
throughout the span ( )l . What is the value of bending moment at the
centre �C �? 
J¸ {ø»¯õÚ Ezvμzv® AB °ß «x �ÊÁx©õP £μÁÀ ö\´¯¨£mh 
( )w  _ø©¯õÚx ( )l  ö\¯À£kQÓx GÛÀ Auß ø©¯¨¦ÒÎ°À 

(C ) HØ£k® ö£si[ ö©õ©siß ©v¨¦ GßÚ? 

(A) 18/2wl  (B) 24/2wl  

(C) 16/2wl  (D) 10/2wl  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

180. A continuous beam is one which has 
öuõhºa]¯õÚ Ezvμ® Gß£x 

(A) Two supports only  
 Cμsk BuμÄPÒ ©mk÷© 

(B) Single supports only 

 JßÖ BuμÄ ©mk÷© 

(C) Above (A) and (B) both  
 ÷©÷» SÔ¨¤mh (A) ©ØÖ® (B) Cμsk÷© 

(D) More than two supports 
 CμskUS® ÷©Ø£mh BuμÄPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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181. Segmented arch of 60° is provided over the door. Calculate the value
of r  (radius) if the spacing of opening is �S �. 
PuÄUS ÷©À 60° ¤�Ä ÁøÍÄ öPõkUP¨£mkÒÍx CøhöÁÎ �S � BP 

C¸¢uõÀ �r � Bμ® ©v¨ø£U PnUQk[PÒ. 

(A) Sr =  (B) 2/Sr =  

(C) Sr 2=  (D) 3/Sr =  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

182. In Tamil Nadu PWD schedule of rates, the conveyance of material
by road in plains is usually ������ Km. 
uªÌ|õk ö£õx¨£ozxøÓ AmhÁøn°À, \©öÁÎPÎÀ \õø» ÁÈ¯õP 
ö£õ¸mPøÍ öPõsk ö\ÀÁuØPõÚ Pmhn[PÒ ÁÇUP©õP ����� Q.«. 

(A) 0-10 Km (B) 0-20 Km 

 0-10 Q.«  0-20 Q.« 

(C) 0-40 Km (D) 0-50 Km 
 0-40 Q.«  0-50 Q.« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

183. The long and thin work of measurement is adopted by 
}Í©õÚ ©ØÖ® ö©À¼¯ AÍÃmk ÷Áø» ¤ßÁ¸ÁÚÁØÓõÀ 
HØÖUöPõÒÍ£kQÓx. 

(A) Cubic meter (B) Square meter 

 PÚ «mhº  \xμ «mhº 

(C) Running meter (D) Square feet 
 μßÛ[ «mhº  \xμ Ai 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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184. A certain amount of capital value whose annuity of Rs. 1 at a certain
rate of interest is called 
J¸ SÔ¨¤mh Ámi ÂQuzvÀ BskUS ¹. 1.0 Á¸©õÚ® u¸® �u½mk 
©v¨ø£ ����� GßÖ AøÇUP¨£kQÓx.

(A) Scrap value (B) Year�s purchase 

 ©Ö_ÇØ] ©v¨¦  Á¸h[PÒ öPõÒ�uÀ ©v¨¦ 

(C) Capital value (D) Sinking fund 
 �»uÚ ©v¨¦  �»uÚ PõUQ {v/JxUS {v 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

185. The contractor is unwilling to fulfil the contract before performing
his work is called  
J¨£¢uuõμº uÚx ÷Áø»ø¯a ö\´ÁuØS �ß¦ J¨£¢uzøu {øÓ÷ÁØÓ 
Â¸®£ÂÀø» GßÓõÀ Ax  

(A) Total breach (B) Partial breach 

 ö©õzu «ÓÀ  £Sv «ÓÀ 

(C) Anticipatory breach (D) Impossible breach 
 �ßTmi÷¯ «ÓÀ  \õzv¯©ØÓ «ÓÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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186. A contractor cannot approach the court of Law for his grievances,
unless, he has Exhausted the arbitration process as per
������������ clause in the contract.  
J¨£¢uzvÀ EÒÍ ������������  ¤�Âß£i |kÁº ö\¯À�øÓø¯ 
�izxÂhõ©À, Kº J¨£¢uuõμº uÚx SøÓPÐUPõP }v©ßÓzøu 
AqP�i¯õx. 

(A) Clause 7 (B) Clause 25 

 ¤�Ä 7  ¤�Ä 25 

(C) Clause 30 (D) Clause 40 
 ¤�Ä 30  ¤�Ä 40 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

187. Tenderers does not submit (or) fail to produce ������������, the 
tender will be rejected without further reference. 
öhshºuõμº ������������ I \©º¨¤UPÂÀø» AÀ»x \©º¤UPz 
uÁÔÚõÀ, öhshº ÷©¾® SÔ¨¦ CÀ»õ©À {μõP�¨£k®. 

(A) Tender Notice  
 öhshº AÔÂ¨¦ 

(B) Tender Time of completion  
 öhshº �i¨£uØPõÚ öhshº ÷|μ®   

(C) Earnest money deposit  
 Á¸Áõ´ £n®øÁ¨¦ 

(D) Estimated cost of work 
 ©v¨¤h¨£mh £oaö\»Ä   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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188. The subtense Bar is used to measures  
������������ AÍÂkÁuØS \¨öhßì £õº £¯ß£kzu¨£kQÓx. 

(A) Vertical distance (B) Horizontal distance 

 ö\[Szx yμ®  Qøh©mh yμ® 

(C) Elevation  (D) Stop distance  
 E¯μ®  {Özx® yμ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

189. In an Internal focusing type telescope, the lens provided is 
EÒSÂ¯ ÁøP öuõø»÷|õUQ°À, ÁÇ[P¨£k® ö»ßì  

(A) Concave  (B) Convex 

 SÈÁõÚ  SÂ¢u 

(C) Plano - Convex (D) Plano - Concave 
 ¤Íõ÷Úõ & SÂ¢u  ¤Íõ÷Úõ & SÈÁõÚ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

190. In the stadia method the stadia diaphragm is provided in a
tacheometer for measuring    
ì÷hi¯õ �øÓ°À ������������ AÍÂkÁuØS ÷hUQ÷¯õ«mh�À 
ì÷hi¯õ h¯õ¤μ® ÁÇ[P¨£kQÓx. 

(A) Elevation  (B) Heights and distance 

 E¯μ®  E¯μ® ©ØÖ® yμ® 

(C) Bearing (D) Horizontal distance  
 ÷Põn®  Qøh©mh yμ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



   510-Civil Engineering Traditional 
  Architecture and Traditional 
  Sculpture 
  [Turn over 

109

191. The point that is vertically below the observer position in celestial 
sphere is called 
Áõß÷PõÍzvÀ £õºøÁ¯õÍº {ø»USU R÷Ç ö\[SzuõP C¸US® ¦ÒÎ 

(A) Pole (B) Zenith 

 x¸Á® öáÛz

(C) Nadir (D) Celestial point 
 |õvº  ÁõÚ¨¦ÒÎ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

192. ������������ is an application of GPS for  visually impaired  
������������ Gß£x £õºøÁ¯Ø÷Óõ¸UPõÚ GIS Cß £¯ß£õhõS®  

(A) MOBIC (B) GIS 

 ÷©õ¤U  â.I.Gì

(C) Ranchers (D) Navigation  
 μõg\ºì  ÁÈö\¾zxuÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

193. ������������ is used for storing, Analysing and visualizing spatial
data. 
Chvø\ uμÄPøÍ ÷\ªzx, £S¨£õ´Ä ö\´x, Põs¤¨£uØS¨ £¯ß£k® 
Aø©¨¦ ����� BS®. 

(A) GPS (B) GIS 

 â.¤.Gì  â,I.Gì 

(C) Total station (D) Laser scanner 
 ÷hõmhÀ ì÷håß  ÷»\º ì÷PÚº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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194. The horizontal distance through the excavated earth transported 
from borrow pit to the embankment is known as   
SÈöÁmkz uøμ°¼¸¢x ÷©kUS ©s Phzu¨£k® vø\°À EÒÍ 
Qøh©mh yμ® ����� GÚ¨£kQÓx. 

(A) Lift (B) Hand distance 

 ¼L¨m  øP yμ® 

(C) Lead (D) Foot distance 
 ½m  PõÀ yμ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

195. The line joining points of equal elevation is known as  
\© E¯μ® ¦ÒÎPøÍ CønUS® ÷Põk  

(A) Horizontal line (B) Contour line 

 QøhU÷Põk  Á�ø\U÷Põk 

(C) Level line (D) Contour interval 
 uÍU÷Põk  Á�ø\ CøhöÁÎPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

196. The first sight in levelling operation is  
\©ß£kzx® ö\¯À£õmiÀ �uÀ £õºøÁ ����� BS®. 

(A) Back sight (B) Fore sight 

 ¤ß¦Ó £õºøÁ  �ß¦Ó £õºøÁ 

(C) Intermediate sight (D) All the above  
 Cøh{ø» £õºøÁ  ÷©ØPsh AøÚzx® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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197. The size of plane table is 
¤÷Íß ÷h¤Îß AÍÄ Gß£x ����� BS®. 

(A) 750 mm × 900 mm (B) 750 mm × 600 mm 

 750 ª« × 900 ª«  750 ª« × 600 ª« 

(C) 600 mm × 450 mm (D) 450 mm × 300 mm 
 600 ª« × 450 ª«  450 ª« × 300 ª« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

198. In a prismatic compass, the zero is marked on the 
J¸ ¤�ì©õiU vø\UPõmi°À, §äâ¯® ����� CÀ 
SÔUP¨£mkÒÍx.

(A) North end (B) South end 

 ÁhUS �øÚ  öuØS �øÚ 

(C) West end (D) East end 
 ÷©ØS �øÚ  QÇUS �øÚ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

199. A triangle is said to be well-conditioned when its angle should lie 
between 
J¸ �U÷Põn® Auß ÷Põn® �����US Cøh°À C¸US® ÷£õx 
|ßS {£¢uøÚUS Em£mhx GßÖ TÓ¨£kQÓx. 

(A) 30° and 120°  (B) 20° and 150° 

 30° �uÀ 120°  20° �uÀ 150° 

(C) 15° and 135° (D) 25° and 140° 
 15° �uÀ 135°  25° �uÀ 140° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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200. ������������ is called as parabolic rule. 
����� £μÁøÍ¯ Âv GßÖ AøÇUP¨£kQÓx. 

(A) The mid-ordinate rule  (B) The average ordinate rule 

 ø©¯®&Bºi÷Úm Âv  \μõ\�&Bºi÷Úm Âv 

(C) The trapezoidal  rule  (D) Simpson�s rule 
 möμ¨\õ´hÀ Âv  ]®¨\ß Âv 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

 




